3.1 Verbal Ability Test

Jumbled Words

In jumbled word, letters of the word are scrambled. Jumbled word is a puzzle to rearrange mixed
up Alphabets/letters in a meaningful word. Solving jumbled word puzzle is a very good exercise
to learn vocabulary. Unscrambling the letters make your mind to consider all the possible words
and to recollect all the words you had read or learnt. Human brain is a code-cracking machine.
Research says that human can read easily jumbled words if first and last letters are at the right

lace e.g. "fsirt" but mind will automatically correct the error and will read it 'first'.

S.N Jumble Word Answer Remarks

1 W €0 owe Three letter jumble word
2 anm man Three letter jumble word
3 idb Bid Three letter jumble word
4 aws Saw Three letter jumble word
5 own Now Three letter jumble word
6 0Y] Joy Three letter jumble word
7 igf Fig Three letter jumble word
8 iet Tie Three letter jumble word
9 igh Big Three letter jumble word
10 axw Wax Three letter jumble word
11 uto out Three letter jumble word
12 eadl Lead Four letter jumble word
13 dwno Down Four letter jumble word
14 ehor Hero Four letter jumble word
15 rfie Fire Four letter jumble word
16 asct cast Four letter jumble word
17 epar Pear Four letter jumble word
18 sfto Soft Four letter jumble word
19 hlel Hell Four letter jumble word
20 tasl salt Four letter jumble word
21 ypoc copy Four letter jumble word
22 osth host Four letter jumble word
23 ebova Above Five letter jumble word
24 rtefa After Five letter jumble word
25 aegru Argue Five letter jumble word
26 aewka Awake Five letter jumble word
27 brhti Birth Five letter jumble word
28 blkca Black Five letter jumble word
29 bntlu Blunt Five letter jumble word
30 bvrea Brave Five letter jumble word
31 beifr Brief Five letter jumble word
32 ceaph Cheap Five letter jumble word
33 ipcrk Prick Five letter jumble word
34 oevrp Prove Five letter jumble word
35 aechr Reach Five letter jumble word
36 beler rebel Five letter jumble word
37 tetsri Strict Six letter jumble word




38 trgson Strong Six letter jumble word
39 tipdus stupid Six letter jumble word
40 umrems Summer Six letter jumble word
41 puerbs superb Six letter jumble word
42 eimiagn Imagine Seven letter jumble word
43 isemtak Mistake Seven letter jumble word
44 gcetlen neglect Seven letter jumble word
45 srseppo oppress Seven letter jumble word
46 estsrpi Persist Seven letter jumble word
47 erprepa Prepare Seven letter jumble word
48 epndtre pretend Seven letter jumble word
49 tunlotg glutton Seven letter jumble word
Series
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qfgel 3TeR fTa sl B |

> J, F,M, A, M,J, J, A, S,?
mfgeR! 99 January, February, March, April, May, June, July, August, September =i
e TTeqen! afgall 3TeR faw avent B

> S, M,T,W, T, F, ?
mifersht g0t Sunday, Monday, Tuesday, Wednesday, Thrusday, Friday, Saturday @1 g
TTeh! Ufgel 31eR fauR el B |

Vowel & Consonant Letter faarR T/

> AELO,?
mferept S AR Vowel Letters feguen =1

> B,C,D,F,G,H,J
miferent g sFAR:Consonant Letters fagusr =4 |

Place value i amenfia & Soit fa=ur 758 |
> B,D,F,H,J, LN
B D F H
miferent sroireRt Place Value et 2,4,6,8,10,12 ©1 (2.......... )

» Z,W, T,Q, N, K, H
7 W T Q

- 3 -3
miferant SRt Place Value 9e1:26, 23, 20, 17, 14, 11, 8 B1(-3eeeeeeeeeeeenes )
Place value, Gap SRR TEw |
> B,D,G,K,P,V
B\/'\/G\/K\/va

+2 +3 +4 +5 +6

ARt iRl Place Value sFem: 2, 4, 7, 11, 16, 22 31(+2, +3, +4, +5, +6....... )



)

6)

10.

11.

12.

13

> Z,V,Q,M,H,D
zZ A% Q M H D

NVAVAVAVAVE

-4 -5 -4 -5 -4
ekt sofieRl Place Value e 26, 22, 17, 13, 8, 4 51 (-4, -5, -4, -5, -4
Mixed seriesg 955 faaR THe= |
>» M,NN,M,O,L,P, K, Q,J,R

- ~ N
/\ /\
M N N M 0 L P K Q
I | | | |
-1 -1 -1 -1
fosiR T (odd position)dt T 9t a1 M, N, O, P, Q (+1l..vvvieeeeeeeeeeees )
SR ¥M (even position)meRisth SIN, M, L, K, J
Fixed seriesg 9es foaR T8 |

> ELFA, GLHA, ILJA, ?, MLNA
TforRT Srofren 3 T el ateR feer (L, A fixed) =7 | ufeell X 6l §8 %9 oFfe S|
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S,A,T,?,R,D,A Y
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&, AT g e LACTIE)
Moon : Satellite : : Earth : ?

a. Sun b. Planet

Forecast : Future :: Regret: ?

a. Present b. Atone c. Past

Influenza : Virus : : Typhoid: ?

a. Bacillus b. Parasite c¢. Protozoa
Fear : Threat :: Anger : ?
a. Compulsion b. Panic
Melt : Liquid :: Freeze: ?
a. Ice b. Condense ¢. Solid
Clock : Time :: Thermometer: ?

a. Heat b. Radiation c. Energy
Paw : Cat : : Hoof: ?

a. Horse b. Lion c. Lamb
Doctor : Patient :: Lawyer : ?

a. Customer  b. Accused c. Magistrate
Museum : Curator :: Prison : ?

a. Manager b. Monitor c¢. Jailor
Soap : Wash :: Broom: ?

a. Clean b. Dust c. Sweep
Wax : Grease :: Milk : ?

a. Drink b. Ghee c. Curd
Bread : Bakery :: Brick : ?.

a. Mint b. Kiln c. Furnace
Sword : Slaughter :: Scalpel : ?

a. Murder b. Stab c. Surgery

Life : Autobiography :: Witness : ?
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(¥ ST
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R
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c. Solar System
d. Sins

d. Bacteria

¢. Provocationd. Force

d. Crystal

d. Temperature
d. Elephant.

d. Client

d. Warden

d. Floor

d. Protein

d. Mine

d. Chopping

d. Asteroid



a. Papers b. Truth c. Documents d. Acceptance
35. Chef: Restaurant :: Druggist : ?
a.Medicine  b. Pharmacy c.Store d. Chemist
36. Jade: Green:: Garnet: ?
a. Blue b.Orange c¢.Red d. Yellow
37. Dancer: Stage :: Minister : ?
a. Pulpit b. Assembly c. Parliament d. State
38. Ecology : Environment :: Histology : ?
a. Fossils b. History  c. Tissues d. Hormones
39. Life: Death:: Hope: ?
a. Sad b. Despair c.Pain d. Cry
Classification
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(A) R (B) =hieer (C) R (D) FF=

(A) S|Ik (B) Cotton (C) Jute (D) Nylon
(A) Colone (B) Lieutenant (C) Captain (D) Commodore
(A) Cuba (B) Hawaii (C) Chile (D) Greenland

(A) Bhangra (B) Kathak (C) Disco (D) Garba

(A) e (B) s (C) <fra (D) Tt

(A) =R (B) srema (C) s (D) w&=nt

(A) ¥ (B) 3= (C) o (D) =&m

(A) wrEshet (B) FR (C) Torésterst (D) ==

A (318 TS THEN STag 1)

D (3% T Seurl U 9 faArenyssare g U8 1)

D (3lictelTgeh 31% AHf=ag 1)

C (3% 9ol feumedt Asehrereiaee g ¥ s Fsfraeerent Stestifael 1)
B (FuTeTet STHfhTETee 318 T2 BIPPA THhml e B1)

C (WRa T G I & TR % TSHAR I & 1)

D (g=aenCitrus efel X 7% 83 1)

B (Siremhl F=aTeTs deel/ auel v 1)

B (gSITH=gl s 1)

C (FHel I SANFTHRRIMRIEd S 9 315 Tsl S0 SR ehTIaReTeh <% &1 1)

AT TeufIrer TREtfSee 1<s ™ 318 T Ay e &4 1)
B (Saehtea feresdl TSiigH, Sfehifehiial Tsimg 1)

D(3%] ieeh 3% IR Bhamhee 1)

D (37% QftariarsacTen! TNeaRl ¥ TTES TTUSHh! ool I8 |)

A (SR 38 1 9 37 SIS E 1)

C (39 9 37% ¥l TR Wia o g1

B (HcTeesh 3% SATGATSIAICR 89 1)

B (YFAcdTRe: 318 Yl HIfeal TRTHCTSRS 1)

A (BOY 9 sreamMfeet 318k Vowel Letter 9 3 YU 1)

A (EAR wHfget 31eR Vowel B 3T & 1)

D (9Ra oeeh 318 ASEAN hl HETsh T8 T &1 1)

D (WIFHReh “TTeTHST 7 1)

C (SHAEU &1 Inner six TsAT 98 ¥ 318 Outer six TH U 1)
C (g, T X ear-sieTg 81 9 e 37161g @ferel 1)

A (ST SaRET Wi B 9 318 Hol faqeeiT T =4 1)
C (H e SHe AT IREARAT 8 99 318 YRUG T TRERE T61)
A (STenTafear forer Sefrmffia = o= o1 wmier Srefrmfdion mfusmf<t g1 1)
D (Fell Ar=mre SHfceh! Al 9 378 &% SaehMragH |)

B (f= <ITeeh 37% Sh1ed SHiHeh! ST T3 TS 1)

D (+1a! 9 3% deleg |)

B (Ig= &R 9 7% TSE 1)

C (fe<ramesh 3% @&t UN O SHsira=nfies «mig 1)

B (FIIaTEe 7€ HIHMIFRTE B 1)

D (Nylon synthetic fibrezr w= afsiNatural firbeg 1)

A (Colonel see 1% Army &1 98 81 1)




3%.  C(Chile aree 3% Island g1 1)

39. C (Disco = 3% Folk dance g11)
35, A (T TH 37T Tl UHIH TG 1)
3. D (3% Tdl < g W TR TSR 1)
¥0. B (FHETRH 3T TS TEHSIUE B 1)
¥q. C (TAESTESHERIHRRT IS 1)

Coding-Decoding
Fifes - fepifesha SR HIShH! MURABTR k! TIIAAHIS TACHIRIIT §S | I8 ThRh Tl
ASISTTTRISATS FAFGHR IO 7T T1e:

T HHEE
A=1 B=2 C=3 D=4 E=5 F=6
G=7 H=8 =9 J=10 K=11 L=12
M =13 N =14 0=15 P=16 Q=17 R=18
S=19 T=20 U=21 V=22 W =23 X=24
Y =25 Z=26

I FHER
Z=1 Y=2 X=3 W=4 V=5 U=6
T=7 S=8 R=9 Q=10 P=11 0=12
N=13 M= 14 L=15 K=16 1=17 =18
H=19 G=20 F=21 E=22 D=23 C=24
B =25 A= 26

TR TS ST T YTSehl AR AN Tl

32 ®9 3 @R Y T3 33TY RTY NTL

3080 RIg T E R 393790 EEERT M3 R

¥ 293 33T Y RTY 3 9% 0 990 93 T 95

95 ¥ 9% 99 TR0 9% 7 39 4 T =R 9¥ o 3 93 9 Y

R AN 99 I 3% 90T 39 ] ARG S 938 9 T30

TTN LE R ¥ T 33 39 3Y BT EED

Rule

1. Ascending order o 9@ L= ?
(+1+2+3+4)-1-2-3-4

2. - Descending order 1 g T =12
+5+4+3+2|-5-4-3-2

3. & Costant number & =g TsA
+545+5|-5-5-5

4. 4 number & TG TEA
+1-1+1-1|+4-3+4-3

Vowel Sound & ww eqar e+ etc...

1. SUMMER is coded as RUNNER then Code WINNER.

a) SUITER b) VIOOER C)WALKER d) SUFFER
2.  MIND become KGLB is and ARGUE becomes YPESC. Then DIAGRAM becomes?
a) BGYEPYK b) BGYPYEK c)GLPEYKB d) LKBGYPK

3. SIGHT is written as FVTUG, How is REVEAL written?
a) YNRIRE b) DQHQMX c¢) FSISOz d) ERIRNY
4. BELIEFis written as AFKKDI. How is SELDOM written?



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

a) RDKCNL b) RFKENM c) RFKFNP d)TFKENP
SPRING is written as UNUFRC. How MOBILE is written?

a) KQEFPA b)OMDGNC c) OMDGPA  d) OMEFPA

GOLD is coded as HOME, COME is coded as DONF and CORD is coded as DOSE, how would
you code of SONS?

A) TPOT b) TOOT c) TOOS d) TONT

POND is coded as RSTL, How is HEAR written?

a) GHIJ b) GHIZ c)JIGZ d) JCLZ

TELEPHONE is written as ENOHPELET. How is ALIGATOR

a) ROTAGILA b) ROTAGAIL c) ROTAGILE d) ROTEGILA

CAT is written as SATC and DAR is written as SARD. How would GIN?

a) SNIG b) SING c) GINS d) NONE OF THESE

SYSTEM is coded as SYSMET and NEARER as AENRER, Then FRACTION will be coded as
a) CARFNOIT b) NOITFRAC c) FRACNOIT d) CARFTION

KAVERI is written as VAKIRE. How is MYSORE written as?

a) EROSYM b) MYSORE c) SYMERO d) none of these
75 MONKEY &% XDJMNL «fe= w1 TIGER =€ & aifems 2
a. QDFHS b. SDFHS c. SHFDQ d. UJHES

e DIAMOND &% VQYMKLYV wifes v FEMALE & & @ifes ?
a. TUMYNU b. UVNZOV c. UVNYNV d. TVNYNV
3fs FLOWER @€ UOLDUI wife=s ¥ TERMINAL &% & wifes ?

a. FLKPMROZb. GVINRMZO ¢. RUNIGLKA d. MNIVGYEO
afs BOARD @ EQBNC cwifa=s w1 CLIMB @& & aifas ?

a. CLJKD b. DKIJLF c. DNHMB d. FNJRO

It MANAKAMANA @ AAAAA <ifeas w9 POKHARA o & oifems ?
a. AA b. OHR c. PKAA d. None of these
7fsS URKHET @& SRHT wifeg= 91 DAILEKH &% & afees 2

a. ALK b. HEI c. DAILEKH d. DIEH
TVNDAY @& SUNDAY @fes 91 NPNDAY & & afems ?

a. SUNDAY b. MONDAY c. FRIDAY d. TUESDAY
AREFGH < ABCD &firs 5 PQRS T 3 afs 2

a. ONML b. LMNO c. NOLM d. ONLM

afz POPULAR @ QPQVMBS @ st FZLD @ & 3ifew 2

a. NAME b. GAME c. FAME d. SAME

gfs BOOK &€ DOOM e, 91 LOOK @& & aifas 2

a. NOOM b. MOOM c. NOON d. NOOP

7fe ABCD @€ EFGH wifa=s s LMNO < & wifes 2

a. OPQR b. QRST c. PQRS d. NOMP

afe FLAG =€ GNDK <ifes w1 BOOK <& & ifes ?

a. CQRO b. CQQO c. CRQO d. COQR

7fe SLOW = RJLS <ifes 9 LOOK <% & wifes ?

a. LMLG b. KMKG c. KMLG d. MKLG

gfg NEPAL @€ PGRCN =ifes 94 INDIA <€ & ofes ?

a. MPFKC b. KPFKC c. HMFKD d. NMEKC

gfe COW=ts BNV wfers v JUNGLE=TS & wifas ?

a)ITMEKD b) ITNFKD ¢) KVOHME  d) TIMFKD
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30.

31.

32.

33.

34.

35.

g OPERATION = NODQBUJPO @fia=s s INVISIBLE caéreresr & dfars ?
a.JOWJ TICMF b.JOWITHAKD c. HMUHTHAKD d. None of these
FATHER @rSHCVIJGT @& & w DULLARD #t &1 & W&q aar ?
a.FWNNCTF b. WNNCTFF c. FFTNCNW  d. TNNCTWW
MANGO = OGNAM #iT feusd PEACH =T % #ie [N
a. AEPCH b. HCAEP c. ACHPE d. EPCHA
GOAT «EIQCV o #s vy v CAT @E & d€+g, ?
a. FCV b. DUD c. VCD d. ECV
Elfvf Fear NEPALwE QHSDO wfars v SWAN &€ & wfges, ?
a. VXDQ b. VZDQ c. VZCP d. UXDQ
FAVOUR =g EBUPTS @tfa=g v DANGER =g & wfa=ar
a. CBFFDS b. CBMHDS c. EBFHDS d. EBHHFS
GRAND MOTHER @2 GRAND FATHER « =T wavg i AUNTI & = #iS &1 ?
a. ATHER b. UNCLE c. BROTH d. ANPUG
TR CLASS @@ EPGAC w1t wiftteg, i HEAR =15 & w1 &fitess ?
a. GHIJ b. GHIZ c. JIGZ d. JHZG
PEN =rewramar TIR @tfaws v CENTRAL®TE & wfveap
a. DFOUSBM b. GIRXVEP c. GJRYVEP d. GNFJKER

Answer Sheet (Coding-Decoding)

1.b.

SU M MER WI N NER
1+ +1 ] ] U] 1+
RU N NER VI O OER

2.a.

MIND ARGUE =gy

L BN
K GLB YPESC

3.d.
S

| +13 | +13 | +13| +13 |

+13 +13
I G H T

F Vv T U G
4.c. — -1
B E L 1 E F S E L D O M
1] +1]=1]| 2] +1 | 43| | +1 | -1 ] 42| -1 | 43
A F K K D 1 R F K F N P
5.d. +2
+2 w=aa

S P R 1 N G
| 2| 43| 3| +4 | 4|
U N U F R C

CcO M E CcO R D
6.b. +1| | +1 | +1] | | +1 ] +1]

DO N F DO S E
7.c. H E A R

+2 +2| +4| +6 | +8]|

P O N D J I G Z
| +4 | +6 | +8|
R S T L




8.a. ALIGATOR T Alphabet 3I&ETE
. e

TELEPHONE ROTAGILA

RN

ENOHPELET

9.b. CAT =1| DAR #1SARD G I N®I1SING S o et 3 T I
SATC Alphabet  ammfe T

qfgalrets STf-aaH T

10.a. SYSTEM ®1SYSMET NEARER %1 AENRER

TSR] TS ST T USTSIh! STHTES Sod TRUH S |

FRACTION = CARFNOIT

11.c. KAVERI %1 VAKIRE | MYSORE % SYMERO
MONKEY [TIGER I TR TR -1 T S|
Ra. | [ [ [T
XDJMNL |[QDFHS
FEMALE Opposite alphabet #(~1) =&
13. a. NN '
TUMYNU
14.b. TERMINAL Opposite alphabet T&H! 3|
FLOWER N
RN GVINRMZO
UOLDVI
15.a. CLIMB Tareel Alphabet @E+], -1 7 e ae
RN TEH B |
CLJKD
MANAKAMANA POKHARA
t6b. | | [ | |
A A A A A O H R
SURKHET DAILEKH
17b. | | [ | I
S R H T D I E H
T VNDAY N PNDA'Y
18.b. =1 =1 | | | | -1 =t
S UNDAY M ONDAY
E F G H P Q R S
19.b. 4| —4| -4 | 4| 4| 4| 4| 4|
A B C D L M N O
P Oop U L A R
20.b. +1| +1| | +1| +1| +1| +1|
Q PQ V M B S
B OO K L OO K
2l.a. 2| | | 2] 21 | | +2|
DOO M NOO M
A B C D L M N O
22.c. +4| +4| +4| +4| +4| +4| +4] +4|
E F G H P Q R S




F L A G B O O K
23.a. +1| 2| +3| +4] +1| +2| +3| +4]
G N D K C Q R O
S L O W L O O K
24.c. —1| 2] 3| 4| 1] 2| =3| 4|
R J L S K M L G
N E P A L | N D I A
25b. 2| 2| 2] 2| 2| +2| 2] +2] +2| +2]
P G R C N K P F K C
cC O W J U N G L E
26.a. —1] —1] -1 | 1] =1 =1] =1] =1] -1]
B N V I T M F K D
O P E R A T I O N
27.d. 1| —1| =1| =1| +1| +1| +1]| +1| +1|
N O D Q B U 1J P O
I N VvV I S I B L E
—1] =1| =1| =1| +1| +1] +1| +1 | +1 |
H M U H T J C M F
F AT H E R D U L L A R D
28.a. +2| 2| | 2| 2| 2| 2 42| 2| £2| 2] 2| +2|
H cv J G T F W N N C T F
29. b.|P EACH
| | | | | Alphabet 3 9 wifeusi |
MANGO HCAEP
IR
OGNAM
G O A T C A T
30.  d. +2 2| +2| +2] +2| 2| +2|
I Q C V E C V
N E P A L S W A N
31.b. +3| +3| +3| +3| +3| +3] +3| +3| +3]
Q H S D O V Z D Q
F A V O U R D A N G E R
32.b. —1| +1| —1| +1| -1]| +1] 1| +1] =1] +1] =1 +1]
E B U P T S C B M H D S
33.b. GRAND MOTHER = GRAND FATHER |AUNTI<‘=€IUNCLE
CcC L A S S H E A R S
34.c. +2| +4| +6| +8] +10] +2| +4| +6| +8| +10|
E P G A C J 1 G Z C
35.b C E N TRAL
+4| +4| +4| +4] | | |
G I R XVEP
Matrix
Type 1:
F¥ Rowar,

A Right =re 14t o,
B, A%l 4 TYEATEAEITH |



B araiare 24 At TIWAT Y 99 Row ATFRTEHIasTT?
Solution: 14+4+24-1=41
Type 2: t3er Row HT,
A EaTE 323,
B srfraaare 35,
A B @ THF ATITHA T IR T 7T A q&are 39 TAAT 98 A,
i) A STFERTHIaSAT?
ii) B srfraware swiast Tamar

Solution
A

| |
321 — 33’~95|
i)s¥ar=35+39-1=73
ii) 73 - 32 =41, 42 &t
Type 3:
55 wramRT ST Row =T,
A - sfeaTe29 &
B - wgmrfesmel4 it 43
NC, AT TAE A ?
Bth A & B = Total - (A+B)
=55-(29+14) =12

Type 4:
41 ATt TSET Row ATA Fare32 ot TaHT I B sifvadare 18 ot samwtg w3 A B#t draArsiar
A EETE= 32
B sifraware = 18} 50
JEAT= 41
Both A & B =(A + B) - Total -2
=50-41-2
=50-43
=7 Ans.
Type 5:
Total 81T
A qEare 584t THT
B afraware 423t T
A B & 3 S=rAIC T
i) A T C &1 Sr=aTHIaaT S ?
i) C qreares®ia & T § ?

0 & A—> 58
|8 |

I I
Both A& B =(A + B) - Total -2
=100-81-2
=17
8+C+8= 8wHr

=58 - 49thAnS




Type 6:
T2t Row HTP EFa@15 &t T G |
Q sfeqaare 13 @t AT )
Pz Q & =15 A1 G WA,
i) FAAAHARAAAEA FFS?
ii) sfawarAHaTTET TFGA?

i) Bet" A & B=Total - (A +B)
Bet" A& B = (A + B) - Total - 2 Minimum

Minimum,
5=28-x-2
Xx=26-5=21

Maximum,
5=x-28
x=28+5=33

Type 7:

T GeFATET Wl TIET A=Ay © |
A 28 sEfsFamT |

B ufedt @fgwam™rs |

A THFITF [@IEFATTARIG |

B usTe® R giream™rdl w1 |

a9, AT B #1 Sewfast @fsFamr v 9 ?

a)15 b)18 ¢)10 d)19 e) g EATSTI

A-B=28-1=27 e gfgwar
2+1=3
27/3 =97z, A=28-9x1=19 st
B=1+9x2=19 st
Questions:

1. Aman is 16th from the left end in a row of boys and Vivek is 18th from the right end.
Gagan is 11th from Aman towards the right and 3rd from Vivek towards the right end.
How many boys are there in the row?

a) 40 b) 42 c) 48 d) 41

2. Threepersons A, B and C are standing in a queue. There are five persons between A and B
and eight persons between B and C. If there are three persons ahead of C and 21 behind A,
then what could be the minimum number of persons in the queue?

a) 27 b) 28 c) 40 d) 41

3. A and B are standing 1 n a row of persons. A is 18" from left side of the row
and B is 24" from right side of the row. If they interchange their positions A becomes
31% from left. Find the total no. of persons

A) 52 B) 53 C) 54 D) 55
Answersheet:
1.D2.B3.C
Direction and Distance Sense Test

Direction & Distance



North

N
NW NE
West ——t—— FEast W
SW SE
S
South
Ant|clo<:ka;
<J> -
Anticklockwise
Pythagoras Theoram
hZ — p2 + b2
h = /pz + b
o= [h2 - b2
b=~/h- pz
Direction and Distance Sense Test
=R feen T IR feenens SufauSel J9YSR <@R afes:
I
A
STR—Tfe=H ST
iy >Td
feror—1d
<farur—ufe=y
7
3feqor

1. TIRTS GHEERR iU HIfEs! S 9i=mah 9 |
2. QU] GEIHMITEER] B 9y I S |



3. TR 9R IS GIHIMRORE Sich HIfIaTe 38 Uahiel B gor |

4, I TR A SRR HRUH B I GARIEIRTHR! B STeh! FHINR G T GRS FHIIREIR 53 |

Q. T IFHOMR HhT STUTHI BT F TSl Gg T feemfoaiRa 1o° v I Iufs =El o fuma® ¥i° W 9 &
et FAKITAR Hehehl S 2
(A) =feur-ga (B) SR-gd (C) =fegu—gfe=m (D) SR-ufe=H

3. UM IFHUMR B ST ST % T G§ = feenfaufia q50° v ¥ Iufs =18 g faumaw 10° v 94
% Jfeel FAGIAH RihTh S 2
(A) 9feem (B) @@ (C) sfego-va (D) SR-ufe=m

3. T foem guea ufs fafoemerssm oo aefvames afed | samet S/t Rkt 3t SRiawmiern T 3+es 3ol
Th3ThiehT 31T (Face to face) fmsym fargAfesmrewet f&q 2
(A) T&a® (B) ufy=rma® (C) ST (D) sfam®

Y. TS W Y fh.fA. <fioae s, aeufs sriwEs | g 3 T . fegufs seiwfew ¥ .. feg 9 e
% Yo forgaTe AT |l S 2
(A) afz=m (B) gaifer (C) =fegm (D) =feqon ufe=H

Y. eI gHuERere Y, T .M. IW Tuafs anifr difewr 4o .M. Tuafs gaemmEtent 9o .. smmfe g 39 3
FAGIAR S ?
(A) S (B) =fagur (C)g= (D) sfeqor ufe=m

& T3 AW UREHEa R fR.fA. s e T smifeR Wt q foh .. stmife agan v < yrEeht fargare gAfeenfr grain
?
(A) =fgm (B) IR-1d (C) 3= (D) =f&gu gfe=m

o, foen TRt sfeum fo (gemite Wkt o fee v i getree. sefeem fe 2
(A) =fam (B) sfeor-gd (C) g (D) =& afg=m

5. fousmtees gfvemfm T e safa sy = | 1 e aftem T g sfaoes sfyee © | seage
THHATER] AL Wohl B ?
(A) =faqo (B) sfequ afem (C) <feor 4d (D) 9f=m

<. T g feenfw sfauen B1 % ufe gm feenfaufia 93y foft 9w 1 omufs o€ 9@ foomas 60° g W &
AT FACIAR bl S ?
(A) Sfeur-ufygm (B) Sw-ufyem  (C) sfaur-gd (D) g@

0. T3 AR IR fSumaw 3 ot fEem T amiaw wahe < fopfi. sifer aem | &5 il aniieees X 3 .M. fegw | o
g forgame Trws-s T 3 f6.M. fte | & goh! fagare #fafe. . R s 2
(A) 3 fmfa. (B) ¥ for fi. (C) :fFfa. (D) qfw fa.

99. T, I, BR Y TRIFEARHEE WieRedh! & | TH I TEIER g1 | TR STAh BT B | I Ta9fy=aqath
ThichUeh! B Y9 SFAUA% 1 HiPTHI B ?
(A) T (B) T (C) =R (D) e

9. T ToRmeToA Tl formerafar et SR | Affoaeraen! St TS WA= 9 3T AR U] o= 2
(A) 53 (B) uf¥=m (C) 3= (D) =faqm

93. SIS ¥:30 Ioich! AQfHE GEol Ud faull SEE 9 ¥ eol HAGH TERS ?
(A) (B) 7= (C) sfeqor-vet (D) SR-7d

Y. TS ¥ 3T TS fargae shuengd Y ufemi v .M. ffes | adfssmr srifw w2 .. e
YT IIEE Th—Th{<Teh{d @l B ?
(A) 5 . (B) 8 fwfa.  (C) 10 ffu. (D) 15 f.fa.

Answer sheet:

.D [2.D [3.D [4D [5B [6.C |7.D [8B [9.A [10.D |

11.C |12.A |13.D 14. C




Common Sense Test

q.

|

.

m%
{3

|AL

0.

/AL

TeTehl Hedl A fashed 0, 30, 4 W fHedl Jeal ® 2

(A) ¥&,35,9% (B) :5,9%,% (C) 343,53 (D) 90,4,3
C [ufee Tt 2men S T S HEIehT 3T T 1]

(5, %¥) WUk SErIeR! H e 2

(A) 4,34 (B) %, 59 (C) 93, 94& (D) 93, 9%%
D [Srh s dfearent o |

8, 80 wusk JgrehT HA THes 2

(A) 5, 50 (B) 5, 40 (C) 5, 60 (D) 6, 30
A

9,11, 14, 18 Uk HA§S ?
(A) 7,6,7,8 (B)4,6,9,13 (C)4,8,12,1 (D)4,6,8, 11
B [T+ 2, + 3, + 4 FI h0d S 1]
(6, 3, 15) Uk FHA & ?
(A) 7,5,12 (B) 3,5, 7 (C) 5,12, 19 (D) 6, 3,17
A[6+3+15=24;7+5+12 =24]
(81, 35, 49) TUE FA TS 2
(A) 556,319,200 (B) 125,126,237 (C) 329,441,35 (D) 241,156,248
C [ 7=e® Odd number &1 1]
12, 17, 22 w%i fae %4 faes 2
(A) 200,201,205 (B) 202,207,212 (C) 39,43,47 (D) 105,109,115
B[ 12+5=17+5=22

202 +5 =207 +5=212]
15, 90, 540 S g HH fHes 2
(A) 5,25, 30 (B) 8,56, 392 (C) 6, 18, 54 (D) 9, 54, 324
D[ 15x6 =90 x 6 =540

9x 6="54 x6=324]
(¥00, ¥0, Y0 & STl & THes ?
(A) 100,909 (B) 990,900,4  (C) R%03%9 (D) 200,300,900
A [ufecl H&eE q0 of YITTRT [ T IS 90 o AT TTRT q8 SRl e 1]
9,11, 14,18 YUH FA o ?
(A) 7,6,7,8 (B)4,6,9,13 (C)4,8,12,1 (D)4,6,8, 11
B [*RERmeT+ 2, + 3, + 4 1 ham B ]

Logical Reasoning

T YehReh! YYAHICSUeh] T, s, Ty I Fharehetiaen] SUThHiaRel T faieears ShmHeiy. Tegues |
e foveTao TereiTees

9q.

(1) 937 (2) TR (3) forea (4) foreem (5) =

(A) 21354 (B) 21435 (C) 23541 (D) 24153
(1) =mn (2) ®@ (3) ¥ (4) 9 (5) gm

(A) 24153 (B) 23514 (C) 21354 (D) 24351
(1) foean (2) T@ (3) = (4) =1 (5) fors

(A) 53421 (B) 51243 (C) 54312 (D) 52134
(1) o1& (2) @ (3) F< (4) T (5) TR

(A) 45231 (B) 41325 (C) 45132 (D) 42315



(1) = (2) === (3) = (4) g (5) e

(A) 21543 (B) 34125 (C) 25341 (D) 32514
% (1) gamen (2) frgeeen (3) frereTen (4) seameen (5) ggeEeen
(A) 23145 (B) 25134 (C) 21345 (D) 24315
9. (1) 7S (2) 3iiem (3) Tohen (4) wfe (5) =g
(A) 25431 (B) 23145 (C) 23541 (D) 52134
5. (1) v (2) fSteen (3) 3w (4) & (5) TS
(A) 53142 (B) 52134 (C) 51243 (D) 54231
e, (1) fe1 (2) = (3) &= (4) == (5) = (6) wfen
(A) 341562 (B) 365142  (C) 315426 (D) 314625
0. (1) I (2) 3g=% (3) A= (4) 3R
(A) 2314 (B) 4321 (C) 4231 (D) 4132
99. (1) Centi(2) Kilo (3) Deci (4) Deca (5) Hecto
(A) 13245 (B) 13452 (C) 12534 (D) 15324
92. (1) Fruit (2) Root(3) Flower (4) Stem (5) Leaf
(A) 25413 (B) 23145 (C) 24513 (D) 24531
93. (1) Diagnose (2) Doctor (3) Fever (4) Medicine (5) Prescribe
(A) 32154 (B) 12345 (C) 32145 (D) 21354
. (1) gt (2) #ore (3) wferan (4) foe (5) et
(A) 42351 (B) 42153 (C) 43215 (D) 15234
i%. (1) Selection (2) Appointment (3) Application (4) Interview (5) Addvertisement
(A) 52314 (B) 53142 (C) 53412 (D) 35421
G SSTHT
1.D 2.A 3.B 4. A 5.A
6.D 7.B 8.C 9. A 10.D
11.B 12.D 13. A 14.C 15.C

Assertion and Reason

TA U TR AAE T FRO TEA TRCH G | T SOHAT Jodd TRUH epedded qie aar amSTard |

1.

TTE(A) Twel FEH GHET 2|

FR0 (R) et vitamin D &t #tha a7 |

A) wrE (A) T FRW (R) gF &% B9 T FR (R) & g (A) 9 SATEAT TH |
B) w g (A) Y #RW (R) 3% &% B T #RW (R) 9ATE (A) FT TE =amear @5 |
C)w g (A) &% § X #rwr (R) T S |

D) w=rg (A) T & T FRw (R) Td &

S (@) AR T[RIWRET o WPl SThT FT AHATHT TGl TS, |

FRU (R) feq W et T ST d T G |

A) wrE (A) T FRW (R) g % B T FR (R) & wE (A) 1 9 =ATRAT T |
B) wmrg (A) ¥ #=W (R) 3% &% G T #FRW (R) w1g (A) F FEr savEdr @ |
C) wrg (A) 9% 5 @R Frwr (R)Tad & |

D) smrE(A) T g a% #rw (R) @& 7

TS () HA TEA AT AEAH &I T4 |

FRW (R) a9 STEETgRa Y WIEewdl R T8 ST |

A) 7 (A) T Fw (R) 33 &% S T #RW (R) & wrg (A) # @@ sarEar 16 )
B) g (A) ¥ #RW (R) 3% &% B T #W (R) 9ATE (A) T TE =am@aT 8 |




0.

9.

C)w g (A) 9% § aX #rw (R) T & |

D) wwrg(A) T & o) ®Rw (R) 8 = |

¥ g (a) < fva g ot Rreaggs s

FRW (R) wdfass srawe afraet THAMATS Amara ATt |

A) w1 (A) T FROr (R) 33 &1 B T FRW (R) & g (A) # @@ =@mEar 16 )
B) w g (A) Y #RW (R) 3% &% B T #RW (R) 99T (A) # TE =AT®RAT B |
C) wrE(A) % g @) #rwr (R) Toa

D) wwrg(A) Tea § % ®Rw (R) T8 =

T E(a) Frafraar aereT THE T TR |

FRw (R) g7 fogfaa qemaaar |

A) w1 (A) T FRW (R)3F &% 9 T FRE (R) & 9918 (A)F0 9T =am@dT T |
B) wrg (A) T #=w (R)3¥ % S T FRw (R) wrE (A) # 9er =ameat €5 |
C) wE(A) 3% § X Frur (R) Tor@@ |

D)smrg (A)Tea § = ®Rw (R) @& &

T g (A) | Ararg e T

FRU(R) F=amesaTs @ ST TG |

A) w1 (A) T #FROr (R) 33 1% B ¥ #RW (R) & g (A) # w6 =amEar 16 )
B) wrg (A) ¥ #=w (R) 3% &% G T #RW (R) w5 (A) #1 F@r sATEAn e |
C) wrg (A) ¥ © R FRwr (R)Ta & |

D) wwrg (A)Tad & aX #Rw (R) 96 @\

T (A) feTammar aurE# TSERICaE R JSn w8 |

FRU (R) #aet qeqes 9 d4 THR EEs |

A) g (A) T #Fw (R) 33 8% S T #RW (R) & wrE (A)# w@rearear 1E |
B) g (A) ¥ #Rw (R) 3% &I B9 T #RW (R)9ATE (A)FT éramearers |
C) wrg (A) 9 g o Frwr (R) T9d |

D) wmrg (A) 7o & = FRr (R) el & |

TE(A) TR Ry AR @ |

FRU (R) drirerdiarel g fRorers qra S aRkod TR |

A)rrg (A) T FRO (R)gH 8% &7 T FRwr (R) & w9rE (A)# Fdearedt T |
B)warE (A) X #Rur (R)gd &1 B T FRW (R)sE (A)# Féreareqrars |
C)amrg (A) &% 5 ax wRO (R)TEd T |

D)wmrg (A) Tora g a% #RW (R) T8 &

T (A) TEAEE FAFETNS A TEe |

FRO (R) A AEETE AT A FOA SHISST TSR §7 |

A) wrE (A) T FRW (R)gF &k B9 T FRW (R) & 991 (A)H Férsaredr T
B) wg (A) ¥ #Rw (R)g¥ &% B ¥ #RW (R)9ATE (A)F FE=ATRATEEA |

C) wE(A) 3% 8 TR FR (R)Tea

D) wrE(A)Tea g aX ®Rw (R) 96 9

TTE A AT ArepAreasE qA® 2@ |

FRO R Ao fafae #e gueHT wiaare A TReswr fw

A) srE (A) T FRW (R) 34 8% B T FRU (R) & wE (A) # 9 =ATEAT T |
B) s¥g (A) ¥ #=w (R) 33 &% B T #)W (R) 9ATE (A) # TE =A@t 85 |
C) wrg (A) 9% 5 o #rwr (R) T9a |

D) wmrg (A) 7w © ) R (R) 9Er T

TS A qU ARl IGTH TE A |




FRU R WAATSHHT U TG qeaT AT TR |
A) w1 (A) T R (R) g3 &1 B T FRW (R) & A€ (A) F T =€ 6 )
B) wrg (A) T #RW (R) 3% &% G T R (R) 915 (A) F1 FEr sATEAT B |
C)w g (A) 9% § aX #rwr (R) 1o & |
D) wmrE (A) T@d § = FRW (R) E T
R, WS A AT W TR e iR g o
FRO R : AATAT ATART AT HUDIA ARERITT TGN g |
A) 9w (A) T FRW (R) g3 &1F B T FRW (R) & % (A) F F@r=amedt TE |
B) wmrg (A) T #=w (R) 34 &% B T #RW (R) 918 (A) F FéreATRATEE |
C) wrg (A) &% 5 o #rwr (R) T9a & |
D) w1 (A) T g aX #rwr (R) 9E T
93. WIS A : STl Faeradr fafssdieaarg @uree At |
BRI R : g qer G JeareiRyer & |
A) w1 (A) T FROr (R)33 &% B T #RW (R) & 9918 (A)#T Férearedr TE |
B) wmrg (A) T #Rw (R)T¥ & B T #RW (R)wrE (A)Fr Fércareareis |
C) wg(A) 3= 8 T #rur (R)Tea =
D) wwrg(A)Taa g ax #Rur (R) 9@
¥ ETEA : AUTAHTATIANAE @q= G |
FRO R —ATAATR TRE AT, AT, FEARAAR] T a0 G |
A) ¥ (A) T FRw (R)33 &% 9 T #RW (R) & 9918 (A)FT Férearedr TE |
B) w g (A) ¥ #Rw (R)3¥ &% B ¥ #RW (R)9ATE (A)F FEreaTEamels |
C) wrg(A) % g @) FRur (R)7ea &
D) wwrg(A)Taa g ax &R (R) @@ 91
Y. WS A: SISt ITHAT AT T SUAH goT
FRO R: JAT TR AAAATE GRAR IR TREE |
A) wrE (A) T FRW (R)gF & B T FRW (R) & wArE (A)Fr "€ =arer T |
B) wg (A) ¥ #Rw (R)3¥ &% B ¥ FRW (R)wArE (A)F T& =amedt 8e |
C) wrg (A) 9% 5 R Frwr (R)Tad & |
D) wmrg (A)Taa & ax =0T (R) F& 7 |
9% W A TEAT IS ERAT EE |
FRA R : FARMNAS AP TITAT TR FIATT BRAT 5765 |
A) wrg (A) T FRW (R) 3 A% S T FRO (R) & g (A) | 9E =R T |
B) wmrg (A) T #RW (R) 34 &% B T #RW (R) 915 (A) F1 FEr sarEdr & |
C) g (A) &% § R Frur (R)Tad & |
D) wrg (A) T g ax #Rw (R) 98 )
In each of the following question, there are two statements labeled as Assertion (A) and
Reason (R).
q9. Assertion (A): most of the Himalayan rivers are perennial.
Reason (R): They are feb by melting snow.
A) If both (A) and (R) are true and( R) is the correct explanation of (A).
B) If both (A) and (R) are true but (R) is not the correct explanation of (A).
C) If (A) is true but (R) is false.
D) If (A) is false but (R) is true.
E) If (A) and (R) are false.
9z.  Assertion (A) : Diamond is used for cutting glass.
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Reason (R) : diamond has a high refraction index.

A) If both (A) and (R) are true and( R) is the correct explanation of (A).

B) If both (A) and (R) are true but (R) is not the correct explanation of (A).
C) If (A) is true but (R) is false.

D) If (A) is false but (R) is true.

E) If (A) and (R) are false.

Assertion (A) : there are no vaccine for AlDs .

Reason (R) : the AIDs virus changes its genetic code.

A) If both (A) and (R) are true and( R) is the correct explanation of (A).

B) If both (A) and (R) are true but (R) is not the correct explanation of (A).
C) If (A) is true but (R) is false.

D) If (A) is false but (R) is true.

E) If (A) and (R) are false.

Assertion (A) : cut fruits and vegetables should not be kept in open for long.
Reason (R) : their vitamin content is ruined.

A) If both (A) and (R) are true and( R) is the correct explanation of (A).

B) If both (A) and (R) are true but (R) is not the correct explanation of (A).
C) If (A) is true but (R) is false.

D) If (A) is false but (R) is true.

E) If (A) and (R) are false.

Assertion (A) : an electric bulb makes a ‘bang’ when it is broen.

Reason (R) the air inside the bulb rushes out immediately on breaking,

A) If both (A) and (R) are true and( R) is the correct explanation of (A).

B) If both (A) and (R) are true but (R) is not the correct explanation of (A).
C) If (A) is true but (R) is false.

D) If (A)is false but (R) is true.

E) If (A) and (R) are false.

Assertion (A) : telephone wires sag more in summer.

Reason (R) : they expand due to summer heat.

A) If both (A) and (R) are true and( R) is the correct explanation of (A).

B) If both (A) and (R) are true but (R) is not the correct explanation of (A).
C) If (A) is true but (R) is false.

D) If (A) is false but (R) is true.

E) If (A) and (R) are false.

Assertion (A) : most of the ancient civilization grew near the rivers.

Reason (R) : the main occupation of man was Agriculture.

A) If both (A) and (R) are true and( R) is the correct explanation of (A).

B) If both (A) and (R) are true but (R) is not the correct explanation of (A).
C) If (A) is true but (R) is false.

D) If (A) is false but (R) is true.

E) If (A) and (R) are false.

Assertion (A) : Nepal is a democratic county.

Reason (R): Nepal has a constitution of its own.

A) If both (A) and (R) are true and( R) is the correct explanation of (A).

B) If both (A) and (R) are true but (R) is not the correct explanation of (A).
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C) If (A) is true but (R) is false.

D) If (A) is false but (R) is true.

E) If (A) and (R) are false.

Assertion (A): we prefer to wear white clothes in winter.

Reason (R): white clothes are good reflections of heat.

A) If both (A) and (R) are true and( R) is the correct explanation of (A).

B) If both (A) and (R) are true but (R) is not the correct explanation of (A).

C) If (A) is true but (R) is false.

D) If (A) is false but (R) is true.

E) If (A) and (R) are false.

Assertion (A) : unpolished rice should be eaten.

Reason (R) : polished rice lacks vitamin B.
A) If both (A) and (R) are true and( R) is the correct explanation of (A).

B) If both (A) and (R) are true but (R) is not the correct explanation of (A).

C) If (A) is true but (R) is false.

D) If (A) is false but (R) is true.

E) If (A) and (R) are false.

Assertion (A): red colour of blood is due to hemoglobin.

Reason (R) : hemoglobin is a red pigment

A) If both (A) and (R) are true and( R) is the correct explanation of (A ).

B) If both (A) and (R) are true but (R) is not the correct explanation of (A).

C) If (A) is true but (R) is false.

D) If (A) is false but (R) is true.

E) If (A) and (R) are false.

Assertion (A): when the bus starts, the person inside it falls forward.

Reason (R): the bus pushes the man forward.
A) If both (A) and (R) are true and( R) is the correct explanation of (A).

B) If both (A) and (R) are true but (R) is not the correct explanation of (A).

C) If (A) is true but (R) is false.

D) If (A)is false but (R) is true.

E) If (A) and (R) are false.

Assertion (A): Vaccines prevent dieases.

Reason (R): vaccines must be given to children.

A) If both (A) and (R) are true and( R) is the correct explanation of (A).

B) If both (A) and (R) are true but (R) is not the correct explanation of (A).

C) If (A) is true but (R) is false.
D) If (A) is false but (R) is true.
E) If (A) and (R) are false.

Answer Sheet

1.D

2.A

3.A

4.B

5.D

6.B

7.B

8.A

9.D

10.B

11.

12.A

13.C

14.C

15.A

16.A

17.A

18.B

19.A

20.A

21.C

22.A

23.B

24.B

25.D

26.A

27.A

28.E

29.B

State

ment And Conclusions

1. Statements: @ ¥ ifae fovg wrERa wH=R faar fag e ArTeeRT =4 |

Conclusions:




|. el =ifq deprel frdl foagae sfems |

[l < el HHANIGECE qehlel et T Tes |

(A) Only | follows (B) Only Il follows

(C) Neither I nor Il follows (D) Both I and Il follows

(FTRA FHEARIEE Feloh! STTHT TEATH RICHI FEHFT TUehTel TR STeEM T fuig | Ty e 1)

Statements: ¥TeTA faaROT T TR WIAHT | UTHIeh] Tagdl hHieh HHIgS T B |

Conclusions:

|,  WHYH SR Sfqe T foaen g3 I 999 R Tk SR Y% TReTe] 16 |

. T fTermel GaR Aey Wihd STERarEiels aiishl STanTHr e fadeafaar seam 1 g 9 1fye Tiues
|

(A) Both | &Il follows (B) Only I follows

(C) Only Il follows (D) Neither | nor Il follows

(T STAETH T IO Ahq T i T4 Y HedaRoe) fHaeaftadn oM 159 Tun fashed 75 1)

Statements: @RI YeNEA IENTH dIfeA FHoal USR SURHEEA Sfad Ted AIIUH] SR FHoal qarefeh

IYA=IAl fafHa g b TS Tl |

Conclusions::

| TR A SR SMawash dhedl Uareieh! faafia mqfent e feme T |

Il. ThRel Feararyd SMYfaehdieeals Scdiedh fHuehehl Ted JIehl ST faure Sfieh I Jifaferes wehsiehl Smgon
T |

(A) Only I follows (B) Course Il follows

(C) Neither course | nor Il follows (D) Both course | & Il follows
(T genfd 3T ot fafig ween aied smgfds giafvadare anfT TERgR SHEH fush aferd faer
amfefer T wifafires et Swon TR = THa- SUIH fashed 2 1)

Statements: =T TSehehl GEITH TEE AT fEATel Sramma=ar feh srgfasn wuah 51

Conclusions::

l. R 9edieh! Hern fors qoat o Afen/ gersA |

Il T3t 9 STeil fouiy Tes Qoo el A Il el U8 Wied feg Shifaeh! ursiq 71+ fagae |

(A) Only course | follows (B) Only course Il follows

(C) Course l and Il follows (D) Neither course | nor Il follows

(TE Ut A1 T AR Heels e 3rgfaen g & s acT TIRT 94 T4 T Seeeel SR T+, Gfard T afq
Y TRl HE T8 AT Tog 3ug<h faehed g11)

Statements: el TMaIfa® faarcrees! arfeemier faenelies Ta uar i = STl ga TEe |

Conclusions::

|, STgcaceh HAfden foq T fomeres |et T |

Il. wreRa fereren forfaeneeen! @1 Fadr T |

(A) Only course | follows (B) Only course Il follows

(C) Both course | &Il follows (D) Neither course | nor Il follows

(TdcEted T Tohfawen foshed T g8 STTUIRE G- Il ST | U AAfdsT 9T 7Tkl oiT f3Tershen! e fohra,
TR ST JeagH, TH e TS g T ShiehRl qfear T4 THEM 7 SUgh ot g 1)

Statemetns: aufehl THIH HEl THeEH Ul S W (Water borne disease) St @I, &= anfeent
TAET HEMIe] TIH IS |

Conclusions::

|. HoEATYh SUGH I Treedl Y9 33=qU |

[l. TerEren PR dehrel T Yfgeon T4 Sur gufent T fafeamn g ot 9= T4 g SR 19 |
[1l. SreqdcTeeaTs foRmHgEah! =9 g Ta el Il STaeemdn Tfaga- |

(A) All follows (B) Only Il and Il follows



(C) Only I and Il follows (D) None follows
(T IRl TS Prevention (I%9m™) T Treatment (ST9R) W THE § | I 00T IS TR
ST AT e I THUES 91 ST A fHiehl Ty shesan ugeen] WY STeqdieTH e, SRy,
SITh! SRRl §I9 3 1)

7. Statemetns: foae™ T fornefieeen! U g ToRA Sl fthed 3+ T ©e |
Conclusions:
I, fuf~aueer sifquTasel B T JHeR TSR TS T AT TR S SRITA Hael g1 9o 9 |

Il. e S1El MUl foreneffels or| Trarver shel STgeneH Frarell el T 3 forneffens uf =rd = |
(A) Cause | follows (B) Both I and Il follows
(C) Cause Il follows (D) None follows
(fornefieme wERT T 3= faenell afq T=d @1 575 | I9dTeh ATHEehels 99 Fra-aHl 9+ | Jfasm J%a
Tehd TH ge f& 1 1)
8. U HrHEIeh foraereeeh! TH.UA.Hl. i Afds =4 S|
M q: Frerngea! gara S g e |
H R: Rraehgeens fafid T 9eT FUeuen! ST q°l GeAg T U |
HM 3 : A AfdS TR Thea< T fegus |
(A) ®H 1,333 (B) w9, R 31k T3 Sk
(C) FR RT3 3* q 93t (D) @t e 931%
9. W IEGET SISTRHN ORI STeg Weht Afers |
I q: IR 9T TRl STERT 8] s |
HE R: AT AR AIF 918 TS |
I 3: FHIATE TRUh! IR AT TIH 9 927 Wesi e 998 |
(A) T &1 3 (B) & 3 T3 3k § SIS
(C) & § IR 3t 3 difch (D) =R q X 3 3k R Ak
10. HTCTHT el &=h! I ONCHl ThiTHHR B |
FE q: WHA 0= ] JAEIHRI HEFE=T T4,
FH R: THTIRR fE81 Teae Y a<] M glel ThITEehR fagae,
(A) & 9 IR 33 3k (B) # q 3 FE R 93H
(C) 39 &H I3 (D) ®Eq Sfew wF R 36
11. <o SASIH 9GS T B |
FE §: Hifdeh YeiER fam TS|
T : T el SreRor Tt T |
T 3: SUNTET TATIART TS eI ge e sire fegus |
(A) % 4,313 3% (B) wr q 9, w2 13 3
(C) =T 9 X R 3ieh, %M 3 d3h (D) #RIq, T3 S
12. Furelt gae e SR EemE faRferes 51 |
F q: <IH ifaes garer fAeor qon e T aegen! STed T TReT SNt USTIR il T |
FE : foaferer Yo g g7 Siter wo snféie fompm smh Yeres |

(A) IR ga 2 (B) 1§ 331 1 R 3
(C) # 4 T3S 3h (D) ®M q 3iF F1 R F3H
s
1. (C) 2. (A) 3. (B) 4. (C) 5. (D) 6. (B)
7. (B) 8. (B) 9. (A) 10. (B) 11. (A) 12. (D)

| 3.2 Numerical Ability Test




Series
ke gaeEs (Series Problem)

9. SEHITRE GEATEeR Sum =@
Example: 1,2,3,4,5............. 20 qFHS GTEHA
_20x21_ 5.0

TEHER,

TR FEATeTH AT AR a7 1i(rn+1)

PR TEaTeRaT W dRTEA Wy

Example:

[) @ 0 7T Wk &R TR,
=20(20+1) = 420

1) s&at 30 FeT ek FEars 9RTh,

= (30)* =900 -
. _ m(m+1)(2m+1)
. T TTHAF GEATEH A NThRA = —

Example: I¥@#m0 78T TTHaE FEaTeesd! aid 9THH |
10x11x21= 385

2
3.  IEHUEGE GearEed 8v (cube) F URTES = [@ ]
Example: s¥@T 4 72T TTHqE GeaTd g
2 2
A= [@ ]= = [4sz) ]= 100
2 3

T (& T o+l | -1 | o+ | -1 | n4n | nPn | 5

T
T

1 1 1 2 0 2 0 2 0 2 0
2 |4 8 5 3 9 7 6 2 10 6
3 19 27 10 8 28 26 12 6 30 24
4 16 | 64 17 15 65 63 20 12 68 60
5 (25 [125 |26 24 126 | 124 |30 20 130 | 120
6 |36 |216 |37 35 217 | 215 |42 30 222 | 210
7 149 |[343 |50 48 344 | 342 |56 42 350 |336
8 |64 | 512 |65 63 513 | 511 |72 56 520 | 504
9 |81 |[729 |82 80 730 | 728 |90 72 738 | 720
10 | 100 | 1000 | 101 |99 1001 {999 | 110 |90 1010 | 990

Questions:-

1) 1,4,9,16,25?

a) 35 b) 36 c) 40 d) 42

2) 1,2,4,7,11,?

a) 13 b) 15 c) 16 d) 17

3) 0,2,8,14,?, 34

a) 20 b) 22 c) 24 d) 25

4) 1,4,10,22,46,?

a) 94 b) 102 c) 106 d) 112

5) 1,9,25,49,81,?
a) 100 b) 112 ¢) 121 d) 136



240, 2, 120, 40, 10, 2

240 b) 180
2,3,5,7,11,13, 2

15 b) 17
2,5,9,19, 37, ?

73 b) 74
1,4,3,7,5,10,7, ?

9 b) 10
4,7,12, 19, 28 ?

36 b) 37
6, 12, 21, 2, 48

30 b) 33
3,7, 15, 2, 63, 127

27 b) 30
0.5, 0.55, 0.65, 0.8, ?
0.88 b) 0.9
28, 33, 31, 36, ? 39

34 b) 35
1, 6, 15, 2, 45, 66, 91
25 b) 27
2,5,9, 19, 37, 2

73 b) 74
0, 6, 24, 60, 120, 210, ?
310 b) 325
6, 17, 39, 72, ?

108 b) 116
4, 12, 36, 108, ?

216 b) 280
48, 24, 96, 48, 192, ?
96 b) 108
3,7, 15, 2, 63, 127

24 b) 29
27, 28, 25, 25, 23, 22, 21, ?
22 b) 23
1, 5, 20, 60, ?

90 b) 120
5,2, 11,23, ?

251 b) 252
4, 6, 12, 14, 28, 30, ?
32 b) 40
69, 55, 26, 13, ?

4 b) 5
6, 11, 21, 36, 56, ?

75 b) 76
4, 6, 12, 14, 28, 30, ?
32 b) 40

95, 75, 60, 50, ?

c) 150
c) 19
c) 75
c) 11

c) 38
c) 36
c) 31

c) 1

c) 36
c) 28
c) 75
c) 336
c) 122
c) 300
c) 154
c) 30
c) 21

c) 150
c) 253
c) 54
c)6

c) 80

c) 50

d) 120
d) 21
d) 76
dy 13
d) 39
d) 35
d) 33
dy 1.5
d) 37
d) 39
d) 76
d) 343
d) 128
d) 324
d) 192
d) 31
d) 19
d) 180
d)254
d) 60
d)7
d) 81

d) 60



50 b) 45
20, 19, 17, 14, 10, ?

4 b) 5
3,7,15,31,?

60 b) 61
4,5,9,9,14,13, 19,17, 24, ?
19 b) 20
1,8,9, 6,4, 25, ?

64 b) 49
2,5,28,17, 126, ?

43 b) 37
2,6,10, 19, 28, ?, 60
42 b) 48
13, 18, 14, 15, 16, 13,19, ?
12 b) 10
7,12, 19, 2, 39

28 b) 29
2,6,14, ? 62

30 b) 32
2,6,14,? 42

24 b) 26
1, 4, 27, 16, ? 36, 343

5 b) 87
12, 32, 72, 152, ? 632
815 b) 515
120, 99, 80, 63, 48, ?
35 b) 38
4, 10, 22, 46, ?

64 b) 74
1000, 200, 40, ?

20 b) 10
4,11, 7, 14, 10, 17, ?
13 b) 15
3,5,8,13, 22, ?

34 b) 35
8, 24, 38, 50, ?

50 b) 60
2, 6,12, 20, 30, 42, 56, ?
60 b) 64
3,10, 29, 66, 127, ?
168 b) 178
18,9, 6,6, ?

0 b) 3
5634,

Z’4'5’T 3
3 b);
1,2,5,14,41?

c) 40

c) 62
c) 21
c) 36
c) 35
c) 50
c) 11
c) 27
c) 35
c) 28
c) 120
c) 312
c) 39
c) 84
c)8
c) 20
c) 39
c) 70
c) 70
c) 212

c)9

d) 35
d) 3
d) 63
d) 22
d) 216
d) 217
d) 44
dy21
d) 30
d) 37
d) 32
d) 125
d) 610
d) 40
d) 94
d) 4
dy 23
d) 45
d) 80
d) 72
d) 218

d) 12

d)

BN



a) 121 b) 122
53) 4,10, 22, 40, ?
a) 60b) 62 c) 64
54) 4,5,9,18, 34, ?
a) 50b) 53 c) 55
55) o, 14, 30, 62, ?
a) 126 b) 128
56) 8, 13,21, 32, 46, ?
a) 61b)62 c) 63
Analogy
1. 1:1:25:?
(a) 24 (b) 26
2. 25:37:49:?
(a) 41 (b) 56
3. 26:5:65:?
(a) 6 (b) 8
(a) 61 (b) 62
11. 18:27::14:?
(a) 23 (b) 25
12. 125:27 ::343:?
(a) 64 (b) 729
13. 81:0.81:0.16:?
(a) 0.016 (b) 0.0016
14. 25:125:16:?
(a) 32 (b) 64
15. 37:6:17:?
(a) 5 (b) 6
16. 5:124::7:?
(a) 125 (b) 248
17. 6:18::4:?
(a) 2 (b) 6
18. 9:80:100:?
(a) 901 (b) 1009
19 42:25:64:?
(a) 36 (b) 35
20, 7:24::8:?
(a) 24 (b) 25
23. (2,12,36) wuh qerehl HEd A THes 2
(a) (3,12,36) (b) (3, 18, 54)
24. (6,13,11) sush qereht wed A fires 2
(a) (5,11,9) (b) (5,12, 16)
25. (2,4,16) sush aeren qed H oS 2
(a) (3,9,81) (b) (4, 16, 64)
26. (2,4,8) vush qerh T A e 2
(a) (3,27,81) (b) (4, 16, 36)
27. (2,3,6) Uk qereht 7ed 5 e 2

c) 123
d) 66
d) 59
c) 130

d) 64

(c) 100
(c) 60

© 5
(c) 63

(c) 21

(c) 216

(¢) 0.00016
(c) 128

(c) 7

(c) 342

(c) 8

(c) 9889

(c) 34

(c) 26

(©) (3, 18, 48)
(© (5,12, 14)
(©) (5,25, 125)

(©) (5,25,75)

d) 124

d) 132

(d) 625
(d) 65

(d) 7
(d) 64

(d) 29

(d) 125

(d) 1.6

(d) 36

(d) 4

(d) 343

(d) 16

(d) 9999

() 33

(d) 27

(d) (3, 12, 48)
) (7,12, 18)
() (6, 36, 216)

(d) (6, 36, 216)



(a) (1,5,5) (b) 4,5,9) (c) (5,6,12) (d) (6,7, 18)
Answer

fgq. | S qrey

@ [x:x  1:1° 25:25% 625

1.
2. | @) | :x+D"+1 5.6+, 77:8+1 =2 64+1 = 65
3 (b) [x¥+1:x 5 +1:5°, 8+1:8=>8

11. (c) [2x:3x

12. | @ [x :x2)

13. | (b | _x
X100
14. | ) [x:x
15. | (d) [x+1:x
16. | (c) [x:x -1
17. | (c) X.x_z
2
18. | (d) [x:x -1
19. (a) X
X o +4

20. | (d) [x:3xH3

21 (c) [3x+3 :x

22. | (a) [x:x +10

23. | (b) [(x, 6%, 18x)

24. | (a) |(x, 2x+1, 2x-1)

25. | (a) |(x, x°, xV)

26. | @) [(x x°, X))

27. | (a) | sl 6 SEAMmled TSR TOHw o |

Classification

e Taguen! yvee Sfrafan foredes aed Aften faea(Odd)sgR| |

. (a) 121 (b) 137 ) 153 d) 177
2. (a) 69 (b) 81 (c) 83 (d) 18

3. (a) 28 (b) 45 ) 72 d) 81

4. (a) 35 (b) 168 ) 50 d) 63

5. (a) 10 (b) 26 (c) 24 d) 21

6. (a) 13 (b) 17 (c) 23 d) 63

7. (a) 25 (b) 36 ) 78 (d) 144
8. (a) 21 (b) 36 (c) 49 d) 56

9. (a) 48 (b) 37 () 26 (d) 65

10. (a) 2(b) 9  (c) 26 (d) 65

11. (a) 17 (b) 27 () 29 (d) 37

12. (a) 15 (b) 21 (c) 24 d) 28

13. (a) 10 (b) 26 (c) 25 (d) 20

14. (a) 45 (b) 99 () 109 d) 81

15. (a) 27 (b) 125 (c) 343 (d) 1321
16. (a) 324 (b) 244 (c) 334 (d) 352

17. (a) 5698 (b) 7894 (c) 9865 (d) 8793




18. (a) 126 (b) 217 (c) 345 (d) 513
19. (a) 1532 (b) 8748 (c) 4268 (d) 5846

20. (a) 7851 (b) 6432 (c) 5789 (d) 1325

21. (a) 28 (b) 45 () 72 (d) 81

22. (a) 70,80 (b) 54,62 (c) 2832 (d) 2124

23. (a) 42:4 (b) 36:6 (c) 322 (d) 15:5

24. (a) 15:46 (b) 12:37 (c) 928 (d) 833

25. (a) 117:13 (b) 162:18 (c) 171:19 (d) 304:16

26. (a) 3,9,27 (b) 525,125 (c) 9,81,529 (d) 4,16,64
27. (a) 2,3,6 (b) 6,1,6 (©) 33,9 d) 62,5

28. (a) 1(5)2 (b) 7(113)8 (©) 220)4 (d) 3174

29. (a) 8254  (b) 6(22)5 (c) 4(14)3 (d) 5(18)4

30. (a) 6(18)3 (b) 5(20)4 (©) 735)5 d) 8(32)5

31. (a) 35 (b) 55 (c) 45 (d) 65
Answer

1. (a) : 121w widen 3l

2. (¢): 83umTEHEM A

3. (a) : 28w & H 9 I TR A |

4. (c) : 50w o wd i - 1§

5.(d): 21 e % T SR e g

6. (d): 63 aTesk 37 9ol TE(Prime Number)Se&m & |

7. (c) : 78 SRk 7% Wel & eA(Square)gd |

8. (b): 36 STEH 3T FAAE 7 T T SFS |

9. (a) : 48 RF I TENRE THEH | Seg s TR+ 1= 37 |

10. (c) : 26 9% = G TEerH 1 Sea g sl +1=2 |

11. (b) : 27 9T 3 Wl TE el g

12 (d) : 28 9TR 39 Tl 3 I [UARA & |

13. (b) : 26 9 T 5 HIIUERA & |

14. (c) : 109 = 3 1 A% B |

15.(d) : 1321 = =9 S 3 |

16. (a) : 324 % o7 T fefeeea! ammet 10 575 |

17. (d) : 8793 deeh 31 WA T 3Thehl ARTRA 28 T |

18. (¢) : 345 91eeh 3+ GEIRE o 9eHl | gl 9 |

19. (¢) : 4268 AT 3T Tol HEARER] 3ehdh] ANTHA foSiR §3 |

20. (b) : 6432 @ T SR TEn A|

21. (a) : 28 TR 3 Hel AR JHheh! AMTHA 9 TS|

22. (b) : 54, 62 9Tk 37 Foh! I 7:8 T |

23. (a) : 42:4 ST 3 TS HEAETE 99 i S |

24. (d) : 8:33 IR 3T Wl TYEH! S 3k TR Ufell ofch x 3 + 1 B

25.(d) :  304:16 o 3 T TR Wieeh WA - 9 x A WA T |

26. (¢) : 9, 81, 529 e 371 Hel HHGHT ST e feeirehl ol T Tl ek Tfgeiiehl = o |
27.(d) : 6,2, 5 SR I Tl THEH! T TS Iieel WA 9RT a1 IHT 3ok qUR B |
28. (d) : 3 (17) 4 9seh 37 T TEHN UTecll STE@hah! a1 T STiIH 3feheh] Seh] ANTHA e for=rehl 3 5 |
29. (a) : 8 (25) 4 9k 37 | FHEH! Ufecl ¥ ST 3icheh] AMTHEICTE 2 o 0N TIGT STeehl 31k &7 |

30. (d) :
31. (C) 8

8 (32) 5 e 3171 T WHEH! Ufgell T 3Tf 3feheh! UMWel SIIeR fsr=enl 3 &3 |

45 R 3T Gl 5 1 T GEAD] U & & |




Classification on Pair

1. (a) 3-5 (b) 5-3 (c) 6-2 (d) 7-3

2. (a) 121:10 (b) 144:11 (c) 169:12 (d) 100:8

3. (a) 121:12 (b) 144:14 (c) 169:14 (d) 225:16

4, (a) 2-4-6 (b) 9-3-12 (c) 8-7-1 (d) 7-5-12

5. (a) 2-3-6 (b) 18-2-9 (c) 4-1-4 (d) 6-3-18

6. (a) 25-3-4 (b) 41-4-5 (c) 45-3-6 (d) 110-7-8

7. (a) 2(10)3 (b) 3(16)5 (c) 42)6 (d) 524)7

8. (a) 6(78 (b) 10(22)12 (c) 12(13)14 (d) 20(30)40

9. (a) 9-27 (b) 64-16 (c) 1-1 (d) 4-8

10. (a) 8-3-25 (b) 9-4-25 (c) 10-4-25 (d) 12-10-4
Answer

1.(d) : 7-3 vTc 3% HoH gfeall ¥ S WA ATRd 8 T |

2.(d) :  100:8 s = = (x+1) 1 x W

3.(b) : 144:14 srs A wam (x — 1)°: x &9

4.(c) : 8-7-1 IRFIFHITX, y, X + 1B

5.(b) : 18-2-9 9RH T WX, Y, XyES |

6.(d) : 110-7-8 T BF FATIMNX + y°, X, y T3 |

7.(¢) @ 4(2)6MeH 3T FAH HIG FIMEhT 3TSTHebl ANTeh G5 0N ER HIS TR 3T T2 |
8.(b) : 10(22)12 R 3 HAHI IS SATMGIHI STheh! AFTHEH] SN T TS TR 3TEH T |
9.(b) : 64-169RF = TH X%, X&D |

10.(c): 10-4-25 9R%F FA T X, y, (X — y) &5 |

Arithmetical reasoninng/operatin

L.

T9aT FEAHT WH TTGee TcdF (HeHT Geax &Y TPa | Ih F1dd UF UMl ARTg W9 Hiq fweHr
AT T 7

a) 30 min b) 15 min ¢) 45 min d) 59 min

RATe ATRAT AFAIGTAT UTCHT SUEREE Hed 6 92T 9Tk 99 GIAT, 6 92T d1e® 9 b ¥ 6 92T aTek
T FAH T | AT T JUERES ARTEX FEATHT T 99 o STHAT T SUERES T & ?

2) 6 b) 9 0) 12 d) 15

4 ST WA W GEATAT 3 HAFH AT AT GEAT TR 5 bl qawear gt Fedm Wgar F gra

?

2) 109898 b) 9889 c) 114838 d) 89988

3 S QAR A FEATHT 2 SFH AR SAT FEAT TSTR 9 AFat AN W WEAT SIS FT &7
?

2) 1000 b) 9998 c) 8889 d) 100

90 & FRRTSr W W 4 SFapl TAFRIT AT AT FEAT F A

2) 990 b) 1080 ¢) 1140 d) 1280

60 F 9T T 3 HFH TANTA ET TG F A ?

2) 900 b) 930 ¢) 960 d) 990

6 FET AR AT GEATEE Hed EH 3 FaT GRATEeHl A1 27 § W Al 3 T&T WRATEwadh AT &l arer
?

a) 36 b) 37 c) 38 d) 39

TSl FEATHT TH [qTHET Aed FeEed WEAT, PEETH QAT Weal Joax G W IR A wife qeand
T frendtezer deararg gfaftea T @ 7




10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

a) 56 b) 63 c) 66 d) 70
TQET FATAFHATHT WH T HEATEe U TRl [UARA FT &7 7

a) 756 b) 1250 c) 13560 d) 0

1 g 100 T+Fa Feamwe aexr 9 Faaes ararg, ?

a) 19 b) 20 c)21 d)22

1 3 100 s+ deares A&t () wfaues dfees ?

a) 11 b) 13 ¢) 15 d) 22

1 3@ 100 gvva d&ames @ear | Fiades qraeg ?

a) 19 b) 20 ¢) 21 d) 22

366 I WUH TPl TKAHAT IS TFaX Joo@ &1 TFAT & Digits &€ TART TR &7, ?
a) 990 b) 1080 ¢) 1040 d) 1192

700 5 AU TS THFAT I TR Jeot@ & AT FHa digits §F TANT TRTH g7 7
a) 1542 b) 1620 ¢) 1692 d) 1742

1992 digits &% gamT TIRTH (I TFARX TCQT) TEAFHT TEAT FT IST6% ES

a) 500 b) 600 ¢) 700 d) 800

T3el fRaradT I9 wveR ear SR 1242 digits TART ARGEH @ W TE qoie Bt ?
a) 450 b) 500 ¢) 550 d) 700

43+21=20 % 69+35=46 grawa 92+31=1

a) 30b) 36 c) 54 d) 64

att (5) 7 (x), X)) F (), () 7 (-) T(-) & (+) T€s 99 16x376-2+4 & A FqT g7a
a) 9 b) 10 c) 19 d) &= gfw gz

aft (0 F (2), (4) F (=), (1) & (%) T(X) & (+) =& S w7 12416 +3-2x8= 7
a)-2b)2 c) 4 d) 8

afs 2x2 = 44, 3x3=99, 4x4=1616 wT 1x1="7?

a) 121 b) 11 c) 22 d) 33

60 et Fuer gFers 60 fre are W 10 92T FUST FATS F (A a0E, ?

a) 10 fr¥e b)20 frive ¢)60 Rz d)120 Rrve

TSel FHar 20m el TEieAr A Sm TeR AT 2m T HEE W TETT H GTHT Steadr ?
a) 4 f&= b) S f&= c) 6 & d) 7 &=

1 3 100 @wa dwrwe #hT 7o 7

a) 5000 b) 5025 c) 5050 d) 5100

it femT Teer, q9 G 3 Fer, a9t e 3 Fer 8 wEEr 40 e gges qua wier S H
TET WTEAT T lpes ?

a) 740 b) 720 ¢) 820 d) 960

TS | Fvar | Te®, 2 awar 2 9Ed, 3 g9al 3 T B A Ul g WA @A’ 12 "UerHr W B
UeE "UEl av ¢

a) 60 b) 72 c) 78 d) 84

TS | awer 1 e, 2 avar 2 9w T AR g avs wiar 40 "uern S Fiaes vl ave, ?
a) 220 b) 232 ¢) 240 d) 244

10 3 60 TF e Feamesd GRThA HA &7 ¢

a) 1500 b) 1785 c) 1825 d) 2050

15 g 50 avra ek S S TR wa grs ?

a) 576 b) 612 c) 636 d) 654

19 g 4] G¥aFT AR FEATH TR B &7, ?

2) 300 b) 310 ¢) 320 d) 330

100 79 5 & FXI 9RT STY HeATee Haael gea ?
a) 15 b) 20 c) 25 d) 30



31.

32.

33.

34.

3s.

36.

37.

38.

39.

40.

41.

42.

43.

44,

45.

200 ¥ 7 & W AW GEATEEH TTHRA B G 7

a) 26 b) 27 ¢) 28 d) 29
T3eT ATRET %, 1, 3.5 T 7 =10 &7 7ieee aax Earmdr G | SE T e €, 480 wg s Aew dedn
HT BT ?

a) 45 b) 60 ¢) 75 d) 90

Y T T & waars 20 F 96 TG ATSN AEhRH At ¥ sgar 20 g ?

a) 400 b) 200 ¢) 100 d) 180

#0 30 km/hr #t == dtferg w59« 10 frdesr #q 3@ aR =i

a) 2km b) 100m c) Skm d) 1km

JATF AT AU | 2ATede @ Y 5 TATede A @i Ha 9w e, ?

a) 150 Pz b) 2 sar ¢) 100 frie d) 1 wwer 30 frie

afe Tger A wrarER 1/3 s fAe, 1/4 s It T Suees g 3 i 15m aRat R e
A I ASSIHN AFATE HieT & ?

a) 36m b) 38m c)4lm d) 49m
ATMEIH S FET ¥€ WEATETH TR B &7, 7
a) 28 b) 31 c) 34 d) 37

TSl FEIHT Fel dvoee O 9al Jodd avadll 4 T A & &l W 3 F&T 9o @Al gre, X 3 el
TA T & 9N 3 T A SIS, 9 Tl AT HG S AAEEE ST 2

a) 48 b) 30 c) 45 d) 40
T3l FHE Wl 30 A T AT BN (HATSET ST i Teeh 8Tl HATSS ?
a) 345 b) 390 c) 410 d) 435

TSl FEAHAA FAFHA T §I0d | TeH, FEAFA ApADUg AHIeh 8 WA yood g | q§ S
FEAFAAT 25 T FEWREE AY THAT I ¢ BT (HeATsrs, ?

a) 300 b) 400 ¢) 500 d) 600

T9eT FEHT R TS franefier v smwer g trengw w820 wew wa faemerm W e @R
feemdfes &

a) 39 b) 40 c)41 d) 42

TSl FHAA Ell faendieed UF Aq@H g Marge 9w 1326 vew aa trarges s ww faamdtes
HT BT ?

a) 52 b) 53 c) 54 d) 55

TIET MSHT Fel F@T I HGAEE bl G | 9eh TWSAT TFAT 96 Gglew 3 28 TGH S WA SFAT araredt
&I Bl ST ?

a) 24 b) 22 ¢) 20 d) 12

TS FAE Fer Wi T Hfew o | afs S eraEr 90 Fer gEr 3 25 Far 9w WU SEAT et WedT F
e ?

a) 20 b) 10 ¢) 15 d) 25

TSl FISHT FaR T FEAET T | GEThl G&AT SQPIH FEATHwar qreak Weal 20 & oer § W q(aal el
T BT ?

a) 8 b) 10 c) 12 d) 15

Solution of Mathematical Puzzles

1.

2.

4.

(a) 59m, yei® frew deax g8 wer 59 min AT AR st 1min wfs 70min (1hr) @
AT Fea A & |
b) 9, @kt 7 anw — L = ex—— = 6x=9
;+Vof—1 3-1 2
(a) 109898, =&f, 4 siwar wawwar a@t dear= 9998
3 el gavear A gear= 100
5 swwr wiwea e wer= 99999
(a) 1000, 100-99+999= 1000




5.

1000

(b)

1080, 4 siw# wawear @ @& (1000) @€ 90 & s 7, 9w (Rmander) s e
cagars 90 are wersw T 1000 #r sifsfe |

50 et Remainder 80 =& So, 1000+80= 1080

6.

10.
11.
12.

13.

14.

15.

16.

17.

18.

19.
20.

(c)

(a)

(2)

(d)

(b)

(a)

(©)

(©)

(©)

960, 3 wwsr Fawwar =t dE@ar (999) @rg 60 & W T Remainder s smswcaw«mg 999
ATz st —wet Remainder 39 a9 So, 999-39 = 960,

36, et 3 7 wewa diEe = 27, dtww == =9

e @ S FEw s |

So, yw#r 3 =er "ear §, 9, 10

gy 3 @er gear 11, 12, 13 avmes = 36

56, ®eTEt I FelEeH FEATHR Fqaa = 1:3

1 T3 & A WUahy S gEearars 4 & HR A9 |

So, faFeueEaed 56 @15 WA 4 /@ AT A+ |

FIAEACHT  FUH o Fearee qUE T Wi qoEht 0 F o Wafg 0 N
TS |

20 9e=

11 9e=

21 wew (1-9 wvae weaeeqea | g 100 w7 @@ 1, 21 ved adimg s 9% 9 20 1es
AT

990, 1-9 - 9 a5 - 9x1= 9 digits.

10-99— 90 ¥s— 90x2 = 180 digits.

100-366— 267x3= 801 digits, total = 990 digits.

1692, 1-9-9 av1— 9x1 = 9 digits

10-99— 90 35— 90x2 = 180 digits.

100-600— 501 as1— 1503 digits, total = 1692 digits.

700, 1-9-3w— 9x1 =9 digits

10-99- 90 st = 90x2 = 180 digits.

Fier digits avuser A 3 Fer digits # RA TANT §ESA |

1992- 189 = 1803

So, &t = %z 601

s g9 = 601+ 99 = 700

(a)

(a)

(b)

(c)
(b)

450, (1-9) 51— 9 digits{189 digits}
(10-99) 51— 180 digits
(1242-189)= 1053 digits, 3 ==t digits FawT WUt st

So, %53: 351 dwr

wF T O = 351499 =450
30, (4+342+1)x 2 = 20
(6+9+3+5)x 2 = 46
(9+2+3+1)x 2 = 30

F T & |

TS Gebaes URadT T

16+3x6+2x4

BDMAS Rule Use T Solve = 52 a3s |

4, 12+6-3x2+8 =4

11, o iRwer 2 @ gearer Square T SeR AhaH
So, 1°&1* =11



21.
22.

23.
24.
25.
26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

(c)
(c)

(c)
(©)
(c)
(d)

(b)

(a)

(d)

(b)

(d)

b)

i 4 guerHr .
ST 234+10= 244 qew

60 e, sifqaeT FaeT woult gF THT U9e £ |

6 fert, Rt = ... =26

5050, Sum of First natural number _nn+l) _ 50;(512 5050
820, 22%= 20

78, 12x13_ g

2
244, srear 12 m12§13—78

40 wverer g%t 3 7@ 12 "wveres g So 78x3= 234
4x5
=210

1785, 1° Natural number ames= SUM febreat %(a+l)
Where, T =L-a+1
a= 1% Number, L= Last Number
So, = 60-10+1= 51
Sum ==(10+60)= 1785
576, [1=50-15+1= 36 &= 18, fa=ik 18)
So, Sum=—(15+49)= 576
330, m=41-19+1= 23(11+12)
sk =11
foreiR = 12 (fasiRare 3 X foeiRare svca Auae 9a@))
Sum =—(20+40), 20 et e
40 dfgeat AR
=330
20,100/ =20

28, 200/.=28 (Remainder @ired)

90, Tei® FTATH! AHl FEAT [ AT,
lu+5u+ 10u=480

16 u= 480

u=30

s+ A e = 30x3 =90

200, £ +£=20
20 20

2[,(._ _
~o = 20, 4=200

(c)

(a)
(a)

u

Skm, 1hr st 30km or, 30000m

10mir m3°6‘z)°°x10= 5000m= 5km

150 fave, 1 eameae—30 fave(Eman gven)
5 @arsaE - 30x5 = 150 frve
36m, TS AFETE= LA,

K_HE_
b= 33 I5m
12u—4pu-3u ~15m

12



37.
38.

39.

40.
41.

42.

43.

44,

45.

S5u=(15x12)m

U =36m
(a) 28, 24+3+5+7+11 =28
(a) 48
(d) 435, o P stz
TR T = (w-1)
0,30;(29 — 135
d 600, 2222 300, T g 300x2 = 600
> e
(c) 41, Option check T,
41;(40 — 20
(a) 52, Option check
52x51 ~ 1326
(c) 20, Option check
amar = 20 g,
TG = 8 &5 |

Total "zt = 20x4+8x2 = 96 (ar% Option check &t 96 T
(a) 20, Option check

st = 20

A =5

Total ggre® = 20x4+5x2 = 90 (&% Option check &t 90 srde)
(b) 10, FreaR AFTT ATH TG TAH G ATRT ATAT TH

Percentage
gfaera T s (Percentage & Ratio)

gfererd Wt 100 A7 sa<h T A

Wt 50% =, 20% =
7Y FY FEeArrs 100 WA AT AMEEATT TAT T qARET F FIAwT & |

A

1.

2.
3.
4.
-
1.

2.

3.

20
100

fauat % & W =
AR %o & O T
% ®Ts FHAT Tgeq 100 & 9T RES;
HFparE % A Fgeq 100 & U T |

& Ferar 40% swwr 600 & 9 I FEdT H arar ?
7@, 40% s 600

7zt fegdr % = 40%

i % = 100% (X e 7% 100% g7

FTHT AN,

Reeat %% & W T, W % & T 1 22x 100 = 1500
8000 B 12% =x= 1 &7 ?

800ox11—02O (% aTé s aRad war 100 & s ) = 96

20, 80 Fr FT % & 7

(Frewr TAwer sFars %o 7 dwiar 100 & ure )

= x 100 =25%



10.

11.

12.

13.

14.

15.

16.

17.

0/ = J - m
Y% HXT00 = 100

UFT Y FT %o &
—>%x10096

UTT Y HT Y% F W G ?
—»ﬁileoowa
u_,ywaﬁ%r%ﬁa'c?ran
E;Xxloo%)

60 @TE 80 F<EET T % F I TS ?

a) 20% b) 25% ¢) 33.33% d) 50%
s 25% & 500 &= ?

a) 1500 b) 2000 ¢) 2500 d) 3000

800 =t 15% = =i g7 ?

a) 90 b) 105 c) 120 d) 150
10 @t 20% & g =t Fq g7 ?

a) 12 b) 15 c) 16 d) 18
214, 642 =t #fa % & ¢

a) 20 b) 25 ¢) 33.33% d) 45%

T3er FHEAT 53% wer X Al Hel B | Al 141 1 FEr WY FTFAT FT Bl arar ?
a) 135 b) 139 c) 147 d) 159

T5 THHEER WH TSET FAENT faearat 59% Adeamat T giagradrs ue RareaRd faedt | afs 96 SArEE
TR A T 9 F A BT @dbr Rt g ?

a) 100 b) 150 ¢) 200 d) 250
100 =t 10% =t 10% =t 10% *t g7 ?

a) 0.11 b) 0.1 ¢) 0.001 d) 0.01

A 1 q@a B & wwar 20% & 5drs | B # ad@s A # wear #a % F F g 7
a) 16.67 b) 20% ¢) 25% d) 33.33%

A # aaa B &t avar 25% & #9031 B #t a9a A @ awar ®a % § a9 8w ?
a) 16.67 b) 20% ¢) 25% d) 33.33%

50 # 60%, 30 =t 40% swa1 HaR T T ?

a) 18 b) 13 c) 15 d) 20

uger faemeaar 20% faendr Sufera fro o afe s @ 400 s et srafera @ ww s famedt
FEAT H arr ?

2) 800 b) 650 ¢) 325 d) 500

5 #1 20% 320 = 5% <irear #q g

a) 1b) 2 0)3 d) 4

F Fearadr 60% 7 60 I WE T AGG, ?

a) 60 b) 120 ¢) 150 d) 300
F wear w10 3 20% & 3ig gar aratae gy FT % &S

a) 25 b) 30 ¢) 32 d) 40

T @ 10% & W w5 % 20% 5 gar artas Iy ghoew #a g ?
a) 5% b) 8% ¢) 15% d) 20%

afs A &t s B & W=t 20% 5@ & ¥ B @ s C @ 9wt 20% § FH & 9 AR ATARAT SH a1
AP FHH FA B 7
a) C,A,B b) C,B,A ¢) B,C,A d) A,B,C



18. ™ TIaT ANt ot wvarg 20% & qhg WEl TE SARA HA Yo F BF Tl ?

a) 11% b) 22% ¢) 33% d) 44%

19.  smadqer qFETs ¥ Aterg ®E 30% ¥ 20%  qE@ SanT H Y% F 95, 7
a) 33% b) 44% ¢) 56% d) 64%

20. AX(H TET Aldedl a9 qar At a9 25% F uEAr | Hod [N HALATH A Ha Yo F A TG
a) 16.67% b) 20% ©) 25% d) 33.33%

21, TRETCE WISAT 25% & qhg WQ I @S ST FEAR TR AT JTHEAT HO Yo & FAI AT ?
2) 16.67% b) 20% ¢) 25% d) 33.33%

22, uger @ sraAed 80% @w ges X Aidd aud €. 2000 T W SEF AiaE AT H arr ?
a) 12000 b) 9000 ¢) 10000 d) 11000

23. U9l HEHT qUH weAr frameifeewed wiramr 30% st 50% / 10% gaen ure w1 ga s w5 %
HA AT ?
a) 10% b) 20% ¢) 30% d) 40%

Solution

L () = x100 =33.33%
2. (b)20% = 500

100% ==X 100 = 2000 (@ % & %, <t Yo & e

3. (c) 800x; == 120
4. (a) =t swrRAr 100% &, 20% = 3y g1 120% &7 1

@ 10x—ux 12
100

5. (¢) =x 100% =33.33%

6. (d)®er=53%
= 47%
@ 47% =141
maasrmww%xss:m
7. (c) fasam greq ) 77 = 59%
gfagireer grea et 70 = 41%
AR = 36 (7 18% war |

18% =36
100% =§ x 100 =200
8 (b) 100X —x —x 22 —.]

100 100 100
9. (a) TEH AT WHH T, ATATS Base A |

B=100 =& %= %x 100 = 16.67%

A= 120
10, () 50x2 = 30, 30x—=12
100 100
AW 18« W T
1L ()B=100 =& %=2x 100 =3333%
A= 175
12, (d) 80% = 400

100% =‘;—(;°x 100 = 500

13, (b) 522 + 20X —— =2
100 100



14.

15.

16.

17.

18.

19.
10

20.

21.
Price
10

22.

23.

(c) W+t S wear = uuxﬁ+ 60 = u

Sk _ -
T 60 u=150

(c) Formula = a+b+1a—:0
= 10+20+2= 32%

(b) a+b+—w a= -10%, b=20%

—-10+20+( 11‘;);‘20—-10+20 2= 8%

(a)A®mam=12B
B @ sma= C = 80%
Tad C#t sma 1.25B
(d) 7=t gy wrer dEwe 100 AR T

qiee TRl fawe = 100
qfg T fawe = 144
FeFl aahe = 44%
130 120

() wreamé sfreré s | 10x 1 = 13, 10x 12 = 12|

100
10 100 a@hs13 12 156

T &RA 98 = 56%
T 25 _ 25

(d) T =z
. 100+ 100-25 75
g?*l'l% % @1 a?li"'q'rgxloo =33.33%
g geAr @= 100 ' 7w 10 T 5w 10 swws |

X Quantity Expenditure
10 100

ST

12.5 w100
7at 7ea (. 10)@E 25% & afg et 12.5 9@t 3 @ 100 7 Fraw it |

s, Quantity = Expenditure

Price
_ 100 _
T 125
IIATHT B Yo = x 100 = —Ox 100 =20%
(c) 20% = 2000
2000

100% = o X 100 = 10000

TET 9T Wﬁqméﬁ%—30+50-10= 70
SFAT el WU faaret % = 100-70= 30

Ratio & Proportion

oooooog
T

TS THE TTH TIE THAH GEATeeeh! Meers avara qihs; |
ST g @it g (Unit) TSe g7 999 9
FATTH FA THTE EaH |

srqaraars Lowest/Reduced form =t afaes; |

b

d a
ey - gEmEl = (&= e

vﬁ%{AzBa?rarrrm?rCzda?rWwaﬁwmwm(Proportion)w%ﬁ,qn



El c a+b c+d a-b c—d
I AV
o ?Tﬁ'g = a@“ﬁfﬁ = ch
Questions
. gEaer wadidt wFars A 48m T 12m § A9 SHeedraRt AAd Hi s ?
a) 4:1 b) 13 c) 1:4 d) 3:1
2. 500gm 33 Kg ®t Squra #iq gea ?
a) 6:1 b) 1:6 c)2:3 d) 3:2
3.  AIB® s 34 S amwmwa 51§ 9 f§ deaee &7 &7 e ?
a) 39, 52 b) 42, 45 ¢) 40, 48 d) 38, 48
4. 60 fa. fasrorar g 3 e AT 2:1 © 1 g X O A 122 aree e f ani e 2
a) 20 b) 30 ¢) 40 d) 60
5. faar X framr SER@ Sqara 507 ® 1 10 avuly SHeed SRS AT 79 WU, SREed SHR B BT 7
a) 25, 35 b) 30,40 ¢) 25, 30 d) 15, 25
6. AR 0:75: 7 5=8 5 W= 1 B WA FHq & ?
a) 1.12 b) 1.2 ¢) 1.25 d) 1.30
7. 49 9re HT FET FE=ET 54 I ARER T
a) 41 b) 29 ¢c) 30 d) 40
8. Tq& W Win@eeH g 9HR 3:4 1 4 qualy W FA9q 79 &6 WA SeeH alad SAT B A ?
a) 24, 32 b) 42, 23 ¢) 35, 43 d) 44, 55
9. uger WA 40% a1 FReR B W 58% FeTddr WiER T | Al AT X derdeld AT 2:3 g W Hwq
% SAEEAT WER BA ?
a) 20% b) 25% ¢) 50% d) 75%
10. afs B e 40% wH e g5 feTss T axER 9 afewt T 9 Sand Hi e ?
a) 2:5 b) 3:7 c) 53 d) 7:3
1. faer womw st 15 @ el g 10 adafy Siees SERe aqoa 5:8 g 9 @ 5 auutgs
S AT frrepredara |
a) 36 b) 35 c) 33 d) 38
12. 72 @t 4:5 ® ST ATEAR |
a) 40, 32 b) 30, 40 ¢) 20, 40 d) 32, 40
13, TH X YATHS IAH FATA 3:4 § | A Ieedl IAH AR 972 WU IHST IAI H(G 8T ?
a) 27 b) 28 c) 32 d) 36
14, Twewr WA %, 1, 5T 10 A Aicge wAT 2:3:4 F oAU G | afg s Aew gear 81 ww 10
T AeH G FT Fr ?
a) 32 b) 38 c) 34 d) 36
15. USer Prgser #wee 4:3:2 # SATurasn g A aawear e B (Angle) # AT #fT @ 2
a) 40 b) 60 ¢) 75 d) 90
Solution:
I (a)48m:12M=%mn = 2= 4:1 (Ratio 9 Fwe 5, it FwwT eI 1)
2. (b) Unit Te¥ =awrew, 500gm & 3x100gm
500gm
So, 500gm : 3000gm 30001 ~ =16
3. (a)3ntd4n =91
=91, =13
adars fq e 13x3 =39
13x4 =52
4. (d) 60L =1 2:1 st g = 40L, i = 20L



T TRATIT TREAT AR S |
T U T TR A 122 Fare arr §0L g )
goae 9t = (80-20)L = 60L

5. (a) ol = £ (et 9 57 Rraret g8 7o e
451490 = 497+70
4= 20
=15
FHEH T = 5X5 =25, 7x5 = 35
6. M =2 o2 =2 =12
42“ E; 1001t 8
7. (b) o = v 16-4w = 45-5=n
=29
8 (A) = = I 27n+36 = 28n+28, =8

Seedl SR 3x8= 24, 4x8 = 32
9. (d) Wt FaTRr FEAT = 271, FaTRATR "WEAT = 37, S 57
FraR Saear = 21w 60% + 3n w 85%

60 85
=2nx— + 3MXxX—
100 100
_ 120142551 _ 375T
100 100
o 3751 o
qreR % = x 100 =75%

100x 51

10.  (c) 5:3, At qEaeT wEAr Ty B

T # 50% =y F 2/3 wx S

B 2
100 VX3

TX > = yXE T=53
5 3 y

11. ¥ - =15

+ 10 =t

8:5

85— 15,3 >15,1-5

10 =efgedt S8R w1 8x5 =40, far 5x5 =25

arer: v 40-10 = 30, faer 25-10 = 15

5 st v 30-5 =25, few 15-5 = 10, g = 25+10 =35
12. (d)4r +5m = 72,9m = 72,m =8

4 =4x8 =32

S5t =5x8 =40
13. (a)3nmx4mr = 972 or,12n2 = 972,n2 = 81,12 = 92 =9

TFH IR = 3w = 3x9 = 27

14, (d) ;o x81 = x81=36

2+3+4
15, (a) 47 + 37 + 21 = 180 (Prawa 3 7er o SUM 180 77w |
9= 180
T =20
@ Angle = 21 = 2x20 = 40°

Average
1. Yo, (o, Yo, Yo, \maﬁsﬂwaﬁﬁr@?




A)50 B)58 C)70 D)80

2. 50, x, 60, 40, 70 &l 3rAdT 60 HT x Dl HAA Hid TT?
A)50 B)60 C)70 D)80

3. %9 gfaumerdl go el Fodell T Z.fo UfAIMEIA foo Foclollhl IHIHA hid
gfaeier ueo?
A) 8.33 B)9.33 C)10.33 D)11.33

4, 3N FAATAIAT FRRA Yo AT HATRID! TT T Yo T, W1 HATRIDI 3T
TedT AT F SO Ed IR 98 T HA FidhT e 3 3R
foepre=gerd |
A)30 B)35 C)40 D)45

5. TU3cl $haUatel AT Haa fAATUTR HeIHAr Udd Ghdll, ShdT T sArdEars ufa
fead PaAU: T.300, Ty T T.R00 ST fee® | T FIUAAT ThaAT, SHAT T
SATHT SHA: 2o, R0 T 3o AT Tl HA Il HIHGRD! T AT D el ?
A)4e B)30o C)¥oo D)34e

6. I DI 3¢ Tl IUAHEATDl IHHA i 0 ?
A)112 B)114 C)136 D)126

7. Shehedl WolAT Ufeal fo MNP I YT 3.3 A | 3G FihI Yo NI IA T
hid HAT H AR TADl 8T ATTSA H hUel
A)6.25 B)6.5 C)6.75 D)7

8. U3l URARAT R Sl FoRYAT FORIA, 1 ST 3 HHhgs I 3 Sl Alfd
ATATATT D | FoRGST FRIMATDI AT IIEL d¥, 37 HHTIhEod! AT R
33 9 Y arfaarfafagedt 3ad 3R & 9§ © | 3d URIRST deeaeed! 3iad
3 dideren?
A)30.9 B) ¥o.& C) 32..x  D)None of these

9. T3l Udelol AU UId HAfGATHAT T €34, T 6’34 TFECYY, T WR30 I T €% &l
Pl T | 3T 3T S AT Ffad Thr T3 gy 9 39 T ahr
¥ 900 T ?
A) Rs.4991 B) Rs.5991 C) Rs.6001 D) Rs.6991

Answer

1. B 2. D 3. A 4. A 5. B 6. A 7. A 8. C 9. A

Loss & Profit

(@]

%9 (C,P) -femat woa




o faw (S.P)- a=® W=7
O  ATHT - ®.9 WA TG &
o el faq W 96 &Y
O  HiPdHEd - SATITAR TER TAR Ted
o g - AT Headare FHARS qod
AT -
1. s&1(Profit) = S.p -C.p
2. wrer(Loss)=C.p-S.p
3. Profit % = %}f“’ﬁt x100% or, 2= 100%
4. Loss%=""22Ex100%  or, 2 Px 100%
5. gg s Case miS.p=M.p - g¢
6. VAT fuat ez, VAT a2 geafgsr qeawmsites |
7. Discount% = D‘“":“ x 100
VAT
8. VAT% = Amount after discount x 100
Questions:
1. % 400 wiferer g & 500 A a=arwa % TET g7 2
a) 20% b) 25% c) 10% d) 12.5%
2. % 300 wifeer qmAe €. 200 A1 S=arewa %o 6er s 2
a) 17.67% b) 20% c) 25% d) 33.33%
3. %200 wifewer arra 30% TRT TR ATRIH AT St ?
a) 220 b) 240 ¢) 260 d) 280
4. % 500 wifeeer qraTT 5% =IEr 9@ ATATHCAT AATAT ?
a) 475 b) 470 c) 450 d) 420
5. % 25000 = wwa % 5000 ge K g Yowa &S ?
a) 10% b) 20% c) 25% d) 30%
6. % 600 Fr FrAEHET 30% e KR AT | ATAEST HHAT T=AT?
a) 7= 300 b) 7=420 c) 7=500 d) ?= 600
7. % 300 =t " 20% =reT @R A=_THGH FeAqadl ?
a) 200 b) 240 ¢) 230 d) 250
8.  U3er e T3er A 20% =rer saEik & 800 AU A=A WA H, Fagran?
a) 900 b) 1000 c) 1100 d) 1200
9.  UIET ATITAA TFET THTAATEH Heddl 20% ArwT T8 a=a1 & 600 1 9% A .9, Herararn?
a) 400 b) 500 c) 450 d) 300
10.  FY Frae 180 w1 %1 40% wret §78 5 20% TRTFATSTHTHT T I  ?
a) 240 b) 300 c) 360 d) 420
1. & | w9, B9 wwar 20% Tér 9, "rer Yodtaararn
a) 16.67% b) 20% ¢) 25% d) 33.33%

12.

13.

T3eT Aiexargdad dpaded €. 150000 Tfawet Rt | @ de@sdwas qaeaatl 0% ge &€ 13% VAT
AME AR TIAT ?

a) Rs. 130000  b) Rs. 152550  ¢) Rs. 160000  d) Rs. 155000

Jea goer ear & 800 wirR s 20% ATRTE =AY | T yarwars @ dear 10% S a=mt
Y YATAA THATS HOATBAT ?

a) % 765 b) & 799 c) % 855 d) = 864



14.

15.

16.

17.

18.

19.

@WE.ZOOOWWEaﬁZ/5maW%=ﬁW@?

a) 30% b) 40% ) 50% d) 60%

= " 20% ge T 10% VAT Siex € 176 71 3=4t S a9 qaasi arasr fay ?

a) 200 b) 220 ¢) 240 d) 250

% 1 ® 4 7e1 graaneR €. 1 @ 3 7€ geaar =i Yo AThRTar urel g7

a) 16.67% b) 20% c) 25% d) 33.33%

T 10 wll =@ =we R & 11 ®Wl0 F@r =wde  d=wa Y% ArwrEmeEe
T

a) 11% b) 15% ) 21% d) 28%

T3eT AifEd 9 7er 99 %, 16 AR 11 et 39 3. 20 A F=arhia %o qwT g, 2

a) 1.24% b) 2.27% ¢) 3.35% d) 4.24%

F A F G 10% S 324 | afg w0 150 96 o ader qugears 20% arwEs fEr s
.9, Haerr |
a) % 400 b) = 500 ¢) % 600 d) =. 450

20. F ARER TPET AW 6% TRIAR F=q Awar 16% THEE aww 9w 200 TE@ gemrar o,
FHiTareAT?
a) = 2000 b) = 3000 ¢) & 4000 d) = 5000

21, 3k 9 F&a A w12 F@r  feamEe MY, sER WeArwTEr  wrer Yol
gret?
a) 16.67%profit b) 20% Loss c) 25% Loss d) 33.33% profit

22, 20 Fer s C.paraR 30 72T TEIHS. PRTHATETET BTl Y Hicarar?
a) 16.67% profit b) 25% profit ¢) 33.33% loss  d) 33.33% profit

23, w15 =@er frae 1500 Aifwear T 5 Fer fFarast Maed axER AT @0 G284t 9 T9el fharad sy
FaErar?
a) 100 b) 125 c) 150 d) 200

24. %, | wrapfqEaradae ek v 1 @0 5 7@ e a=ar 20% TET § 2
a) S b) 6 c) 4 d) 7

25. % 2400 7 2 7@ qrAEtER gerr 20% FrRT T @A 20% "rern aTagawt M, avER grg I w
HTET |

26. USEl =AM drhRAr qrAmEs 20% F@r ek qaa s X 30% Discount fevm W amer A%
WET?

27. Afc T3er FrAME Afpaaed €. 250 3 s 7. 200 s ge Yowtaaran

28. & WA 2 qeT |reTHRRAAr | T9erAr 10% ARt I s 10% "er 96 TN FEERea’T # Es 7
a) 4% loss b) 2% loss c) 1% loss d) 1% profit

29. fasy Jreax MET ATHT JeER G WA ART Yo FAEAT?
a) 200% b) 100% c) 50% d) 300%

Solution

1.

2.

p= , D.p= , Profit % = —x = ()
(b) C.p = 400, S.p = 500, Profit % igﬁ 100 = 25%

(d) C.p=Rs. 300 == % = ~=x 100 = 33.33%

300
S.p = Rs. 200
(c) 200 7 130% = 200x~ = 260
(Fre: Feararhar] 00%& ArwTEt w7 100 Arergs, wrer s@ 9 100 e wers)

(a) 500x — = 475Rs.
100

(b) o2 100 = 20%




10.

11.

12.

13.

15.

16.

17.

19.

20.

21.

(b) 600x = = 420Rs.

(b) 300x- = 240Rs.

(b) 80% =800  (ewat % & ST, W % o T T
100% =%’x 100 = Rs. 1000

(b) 120% = 600

100% =22x 100 = 500Rs.

(c) 60% = 180

120% =7, 120% == 120 = 360

AW FFEATAIE A, @15 Base aaga sy @rg 100%Rm
S.p= 100

Cp=120 Loss% = %x 100 = 16.67

(b) e wem, TaIfgH Aeawr VAT sifers |

VAT gt 7w = 150000 X X ——

— . 152550

(d) e e T = 7 §00x — = % 960

QT TS A = . 960X —= = . 864
100

(d) C.p = = 2000

S.p = 2000x== %. 800
2000-800 1200

Loss% = = x 100 =60%
2000 2000
(a) At Hhpawea (MLP) =7
xSy MO o o g o 176x100x100_,

100 100 80x 110
(d) "= sy, A9 Terty T
Pl Hea ATt T S Aedaadly e |
4 1 Sp =4x1 =4
31 Cp =3x1=3

So, Profit it | Profit % = ?x 100 =33.33%

1110 Sp = 1xl1=212  profit % = ~——""x 100
10 11  C.p= 10x10 =100 = 21%
® 9 16 Sp =180
11 20 Cp=176
Profit % = 18;’;;76;( 100 =2.27%
(b) 30% = 2= 150
w. AR 100% &7 |
100% =13—500x 100 = 2= 500
(d) 4% ==. 200
100%=a¥x100=?= 500
(c)C.pof9=S.pofl2
Cp 12



22.

23.

24.

25.

26.

27.

28.

C.p=12,S.p=9, C.p, S.pwear a¢r weafy =@rer w4t |

Loss% = %3 x 100 = 25%

(c) C.P of 20 = S.p of 30
Cp _ 30

Sp = 5 C.p=30
Sp=20
Loss % = -2"2%% 100 = 33.33%

(c)S.pof 1 book=m
S.pof 15book =7
Profit =5m
S.p-C.p = Profit
157 — 57 = 1500
10mr = 1500,7= 150

-5

®m 1 ==x100=20
5 1
=1

SIS

-5
=6
T JYAgs ARBIATE TH Fiepra, |

C.p 100 wrersifrasea 120 &= |

-

100 T wT =TT T6r ATATHT |
et % = 100.84 =16%
Ty

. Formula ae, m —y — G

20—30—20){%: -10-6 = -16%
(+ ATSATTATET, - WIS =TT

g % tateat, steasaea = 250

fraz. = 200

aretta® g = 50

Tz % === 100 = 20%

(c) =ER % AT "reT X ATRIHATHT HIET &9 |

10 100

Loss%=n—2 = — = —=1%Loss

100 ~ 100 100
Cp=mn/Sp=y @t
Tgaer Case @ Compare TR &7
Cp=m Cp=nm
Sp=y S.p=2y (Fade=r &)
Profit=y-m Profit = 2y — &
ATHRT qeaX AAHIA,
3(y-m) = 2y—m
3y3m = 2y — @
y =21

satear Case w1 @R &&iC.p =7, S.p = 21

2TT—T

Profit % = —x 100 = 100%
ﬁ26

3(c)lbg=..... 7:31.5&3



Cp 12 12-9
L — = — L 0y = —x1
5 Sp 5 0ss % e 00

7. ()X (@i )

10

Time of Work
Formula:
1 Power, xDay, xHour  Power2xday2 x Hourl
) Work, - Work2
2. &THar = #H I
SLELC

FTH= &THaT X fao
e = #w 3 &THar

Questions

1.

10.

11.

12.

16 s wif@e 52m @ wEie feer 8 wveredl e 25 faAr ssEwsd | 64 wiEs 260m - @
g gfateT 10 guerdl RS TAGA FAT [GTHT TAEaEST ?

a) 20 f&= b) 25 f&= ¢) 30 f&= d) 35 &=
20 S FHIRA T9el @q 240 TUerTHr @ FFGH HH FA T |90 @ 60 "vearH e ?
a) 40 s b) 60 s ¢) 80 s d) 120 s

Twer srEA 600 s dfrars 50 & o @ g1 15 e oafy 180w sane @Rk e s e
g e femersg e 2

a) 40 fe b) 50 fet ¢) 60 fe d) 55 fm

o e 10 9 FHER @ wE 320 & 5 e awree e fea 1 3 faeafy 120 @@ geien any
TAE AT | IEA BT BIAGR =T A BH GHAH FpTAT ?

a) 10 s b) 12 s c) 15 s d) 18 v
A 7w Fm 20 femr g 7 B & 9@ w30 o ey s faeh '@ e wh R wiaear 2
a) 12 fa b) 15 fer ¢) 10 e d) 18 =

A 7 F¥ w40 T * B & ® @ 24 femn vl 30 e TR A ® gieg | i w9 B
« e e e 7

a) 4 & b) 5 &= c) 7 &= d) 7 &=

A& & w40 femwr 3 B & 9@ w24 femwn i ) 5 R R e TR A 9 gisdt s St
B & & femwr aR@e 2

a) b) 0) d)

A & 60% #1 30 frr, Bn] 2/q @ b < C & 1/, @ 8 fomn w1 q@ a3 v wed

T fgel w1 FE T 7

a) A = b) B & ) C d) A% B & mweR

gt A T a=T B & uger @aid 10 3 15 frmew wgw 1 C & 96 et 12 fee e g faead
URTET THATT @leql St AT FHT qaT TR ?

a) 10 frve b) 12 fre c) 15 frve d) 18 fre

A ® awar B & wear 60% @ a6t w1 A & & ww 12 o iews B @ @ #ww o for
TiRET ?

a) 18 fer b) 19.2 fer ¢) 20.8 fe d) 21 fmr

B @& &t #w 18 et & 1 B & srwar A # s 40% F FH W AW A R S FH HT e
REs, ?

a) 10.2 = b)10.8 ©)12.4 fem d) 12.6 e

A F gwar B # s 50% & 9@ g ) 32 et & e 20 femw wee aw A a9 W FR e
TREF, ?

a) 20 fe b) 25 fw ¢) 33.33 fm d) 40 fr



13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

A # mar B # wear desx g\ B # amwmar C & wear feax g ) faw e faelt s e 18 fme
TEA T A TFAA 9T FTH FT AT R T ?

a) 21.5 fm b) 26.5 fem ¢)31.5 fem d) 36.5 fer

Ad v am 12 &= B & 20 fw 3 C & 30 femwr wikmssr 7 fawr o el g a2 femwfis A
F T A | A X FH GeR 3 femuly C & F oredy | 9t FW B twew wa e @t e

) 6-Fe b) 7fe ¢)7-Fe d)8 e

A, BC & &% &w w18 fam, 15 fa7 3 30 v ik | faw s faelt 3 et o Rt B @
W great | B & g 2 fufs C o w5 oral | afd wW A @ #a femen a2

a) 4.2 fe b) 5.4 e ¢) 6.4 fe= d) 7.2 fe

A< B faeft &7 w12 e, B 7 C ey & w15 femn qar A = C faeft & @ 20 femmn w9
TFI T A TFAR G FH Fh e Al ¢

a) 25 & b) 30 R ¢) 35 fm d) 40 fe=r

Ad v wm 7 femmr T B & & & 9 femwn whaat | A @ 3 TR TAF d%aw e A B @
HH A Ieh P B (GATAT T &7, 7

a) 7 & b) 7 = c) 8 e d) 9 f

A & Fm 20 fn, B & @ @ 30 fewr 3 C & & @ 60 femen wiReas | A @ % 3 @I A
s gead a9t e B 7 C & 9edi TEA 9 @Y e #ia - e g 2

a) 15 fa b) 18 et ¢) 21 f d) 24 fer

A7 &% w20 T, B & 30 femmr 7 C & 60 e 9077 9 990 | SHEed STRAT 8THAT S ER
FH TRaATadeH Arar G C & FTF Fa sarar aee a7

a) 10,000 b) 20,000 ¢) 30,000 d) 15,000

3 9 W T 4 S Afeer M T9er #H g G aredsT | 4 S W X 3 S Afear fhelt | @ 4
fer REFET | 2 0 9¥W ¥ 3 S wfear e @ e e e aRkasar 2

a) ~ e byt oyt d)— e

A # gHa B # W JeaX G 1 A F &4 FH B & wear 60 R ofw @ W g3 faeft @ e aa
ELCIEECIEY

2) 20 fer b) 22.5 fat c) 24 fer d) 27.5 fer

5 @1 ®idrHy AfgES Hed gaAweel fEEl Bierel T Afgaw P aer wiaewt 10 " aRaws | s
FaAWear feet Biardir T AT P o wieren 11 wver aikasy @ g #ia 999t P aer wiew
T Flepe ?

2) 10.2 b) 10.5 ¢) 10.7 d) 10.9

20 i ATES F FW 24 femmr T w9 | #E G ww Raduts 4 s e afree 3 wm 3 e
AT Aihem W9 B (QUng 4 A1 A9 ARICHT BT ?

1.

a) 4 f&F b) 5 &= c) 6 fe= d) 7 &=
Solution (Time of Work):-

(b) p1 =16, W, =52m, D, =25 days, H,= 8hr

P2: 64, W2 = 260m, h2: 10hr, D2: ?

p1x D1,H1 P2x D2xH2
Formula w1 =

16X25x5 64xD2x10

w2

= =25 days.
52 260
(c) 20x240 = nx60
= 80

(b) 15 e s 15 Rt @ areateat @ |
#ra, 600 wwrars 35 femars o a T g o
180 & mrevfg 420 SHraTs Hiel fedaTs ?
600x35 =420xm =50, 50 femars



4. w, T FEER =1
10x3 _ (1o+n)x2(;ﬁ€: g e g wwaEe D,= 2, 320 g« aarea suwEe W= (320-120)

120 200
=200

=15 S 97 T
5.
6. (c) A=40 days

B= 24 days

A & & w1 =30x3 =90

At 7 = 120-90= 30, B & T st awed faw = = = 26 et
7o

7% el TR T = 85 = 40

i e 80, B g wme e = 2= 16 fer
8. (c) A 60% #w = 30 fe

100% "= 2x 100 = 50 fe

B #-ama— 30 frx == = 45 frw

C &b/ =8 fam

Calam=32fk"
Faveer fger & aiEss )
9. (b)A->

.......................

10, o,

11. (b) =™ (A) = =™ (B)
7 x 100 = 18x60
7t x 10.8 &

A B A+B
12. (¢) sar—» ———
(©) 150 100 250

T3 freft 20 femm T o
Total Work = 250x20 = 5000
5000

A THdw W g 5T = #w /e 25233.33%
AB A+B

B 14 (IfdtHx 18 (Ibg)=72 (hDdf sfd)

A T T =/ 2= 24 fm

13.

ABC A+B+C
14 (©3377 7x18=126 (hDdf sfd)
Aqﬁﬁnﬁaﬁﬁﬁ=%=3l-5ﬁ“

15. (d) A->12

(A+B+C) & e @ = 10x2 = 20 Units



(B+C) & st =+ = 5x3 = 15 Units
ater F1 = 60-(20+15) = 25 Unit
atdy 7 B & @t fer = 29/ = 81/of

16. (c) A> 18

A, BC & W& &% = 14x3 = 42 Unit
AC & 9 W & = 8x2 = 16 Unit
Fiwer w1\ = 90-(42+16) = 32 Unit

atdr arw A wrg @ e = 32/ = 6.4 fam

17. (b) A+B— 12

2(A+B+C) = 12 Unit

A+B+C= 6 Unit (fa% ST @gs &1war)

A # 713 &ar = (A+B+C # amwan) -(B+C & &)
= 6-4 =2 unit, 7w fer = 60/, =30 fem

18. (D) Ao 6 vvveeeeree

19. (a) A> 20

afeet fm d9 el

%%M?C gca% 3 femar 12 Unit

awi&wv—lw—>3=5aa 5x3 =15 fe=

20. (@) voiiieiinnnns

21.  (b) 3M+4W = 5days
4M+3W = 4days
(3x5) M + (4x5)W
(4x4) M+ (3x4)W =RteR ga5 |
ISM+20W = 16M+12W
15x8+20x1 = 120+20 = 140(total Work)
2M+3W =t grwar = 2x8+3x1

=19
Total Work 140
So, am f = Efficetcy Eﬁ{q
22. (b) 2w =60
=2=30 22
2 3«1



23. (d) 10.9 hr 5 =ermr | Fer Ff=r "1 1hr &% 9af Average A1 0.2 & &% 95 a@4 10.2 w1 a«,
10.8 wvar wrefY g9 @ |

24, 20 TR GYH &THAT zi
2Oaﬂrﬁ21ﬁﬂwwi’rm=2—14x21 %m

i HH =iﬂ"r 4 S TEA
P1xD1  P2xD2

W1l W2
20x24 4XTr
T

8
20x24 = 8x4xmn =15
da Wy atrear = (21-15) fafs = 6 Rty
Data Interpretation & Data Verficiation
AT AT 3T W JeeeH fafy=1 qearesheears aeareahid fo=f (Statistical Diagram) =1 T&ga TRUH
T | STh TorsTeh] STEIRAT WThT T9ehl STR fEga- 5 | el T8e el faguent o |
1. feuferen e Sifae ¥ 000 A1 w1 MU q,000 ST fornefiaed woo S fornefiee wdamm 4 w1 | fafv=
M A Ut forneffee T S<ivl gfaerdaes fF-gar uTg el SERUH! B U 91 ST T = geaeah!
I e |

ERLCIRECIE T ST fermmet

i. 9 sueRt Tl wiq giaera famnet o wusA 2

(A) 30 (B) ¥o (C) %o (D) <o
ii. foom Heprgent wfa fomnef ot vued 2
(A) 300 (B)yuo (C) oo (D) 900
ii. o foeneffaey foren Gemm e g fomnefient gfaera feeged |
(A) 20 (B) 9% (C) R4 (D) %0
V. B TRt GeveaT del famneft Bhet w2
(A) T (B) famm (C) feram (D) qem IR
[1.() (C) | 1.(ii) (D) | 1.(iii) (B) | 1.(iv) (A) |

2. T3A RSN WigsH AMEHT €.30,0001- B W RGN ST WiGh T . 94,0001~ B I T Fr¥hans =
TR TS <ATHT SRR B |

i. T wfd e @9 9@ B 2
(A)®.¥,%00 (B) ®.%,000 (C) ®.¥,000 (D) ®.9,000



Vi.

31 ferdermn sfd T U S 2

(A) ®9q,000 (B) %4,400 (C) ®.R,000 (D) ®.],400
Terermn g7 @ T o Frder g W =R fshTeged |

(A) ®.3,000 (B) ®.r,000 (C) ®4,000 (D) %.¥,400
ek s=rd sid S e |

(A) ®.4000 (B) %4,000 (C) ®90,000 (D) %.5000
H1feh o=d hid © ToehTegerd |

(A) ®.%0,000 (B) ®.¥0,000 (C) ®.¥5,000 (D) ®.%0,000
TR hid Ffaerd T g ©D ?

(A) %0% (B) <4% (C) 9% (D) ©4%

2.() A | 2.(i) (B) 2.(ii)(A) | 2.(v)A) |

2.(v)(D) | 2.(vi)(D)

3. U 9 fRFe IcAeH TR WiElen] foeror qereh! fersidn Uega TiRuen! | Gl fersiehl STEREr detehl 9eh! ST
fegdr |
— 340
E Seoe W
~ 3,0001 g7
9,400
E q,000
V\OO . ) - . \
EL
i. 3! IR qfeall 9 hid 2 HUh! S ?
(A) =,000 (B) ?,400 (C) 3,000 (D) 9,400
ii.  oeR! IcTEA THl YA i = 2
(A) 3,400 (B) 3,000 (C) =,%00 (D) ¥,000
iii. G I T T Heh] THM SHTGH T S 2
(A) dt=i (B) afea (C) = (D) <en
V. TE IEET ST T TR ST Shid o Scared 93 ?
(A) o0 (B) 4,400 (C) &,000 (D) &,400
[3.(i) (B) | 3.(ii) (B) | 3.(iii) (A) | 3.(iv) (B) |
4, T3 foeEs He S WA 90 SIS I Fas TEgd TRU B | o sremed TR e geeenl SR fege |

T 3
20°
HET 9
%0°
i. he THHT hids S ©e ?

(A) 9Ro (B) 950 (C) 90 (D) 9¥o
ii. heT A i S Uea wWaH ?



(A) ¥o (B) =0 (C) =0 (D) 9¥o

SHf o
[4.() A | 4.(ii) (D)

5. Turerm fa.5.:0%0 i fa.5.300 Y Ao queh! fiqes sTee T iU Teeseh! ST oo |

%0
Yo
%0
30
30

q0

i, TOTCTHT S HeTl det faid U ® ?

(A) fa.g. j0¥0 (B) fad. jou¥ (C) fad.r049 (D) fa.r043
ii. AT U 9 i Ss Ui g FIeTn Skl IS ?

(A) fa#.2049 (B) fad.204R (C) fad. 2043 (D) fad. R0%¥
iii. fad.304q werent w1 fa.2043 A ffden! sreen &l © 2

(A) SRFA (B) =m (C) 3= (D) =&

I 5.()) (B) | 5.(ii) (C) | 5.ii) (C) |

6. Uehor forneficl T fom foas 90 qEaedl fSuas! © | Ul T4 Fhahallaels siel YT SIeehl ShuHl Tieerd,
|

ar
(A) FE I, TRHE T, G, T, 37T D,
(B) g, FFIHHI U, TS T, W, 3T
(C) T, T U, Teehr T, 37 H, g
(D) e T, T UG, God, Wod, 377 ™ : (B)
7.  ATET TR SEET Th @ B | T8 0- Q4 T4 SH THEhT 30% , 14-50 6 S THEhT ¥¥% T %0 T8 T
TreaT AFrehT 4% B 99 hid STHEAT 0 oY T F=T HIforeh ©D ?

@ 0-qY v, 30%
€0 A T %0 T WA, 1%

D 4-%0 T Y4%

(A) 30,000 (B) w%,000 (C) 9,00,000 (D) 94,000 I : (D)
8. THY A Mk W] . ¥,000 HYS A WE TS T F. ¥,000 IR WGk I9d 8 ST AGh THes deHl
TERTH B




(i) ThsTRl A A G HA S 2

(A) ®.30,000 (B) ®.97,000 (C) =.9%,000 (D) =. R¥,000
(i) hereh! HA ATGSH MEEN Hid B 2
(A) ®.93,000 (B) ®. =0,000 (C) ®.9%,000 (D) ®. ]¥,000
(iii) e Wi =T fd @ TS 2
(A) ®.3,¥00 (B) ®.97,000 (C) =.3,000 (D) ®. ¥,000
(iv) oheT ST el HITHeh SGIeh! Shid Ffaerd sad T 2
(A) ®.34] (B) ®. 0] (C) %. 4] (D) =.94]
[8. (i) (C) | 8. (i) (B) | 8. (iii) (A) | 8. (iv) (B) |

9. + 2 m seience, Comerce, Arts, Humanities d&™H @ 180 faeneft wWeh = | Tateh! e TgaR fme
YRl SR Tegey 2

90° 108°
Humanities| Science

(i)  Science HsmEm wfa fommedt ugeq 2

(A) 60 (B) 54 (c) 30 (D) 25
(i) Commerce W@ i foemell Tgs ?
(A) 45 (B) 60 (C) 90 (D) 50
(iii)  Arts Heprom i foenedt s 2
(A) 36 (B) 40 (C) 54 (D) 32
(iv) Humanities SerM id faemef qeeq ?
(A)54 (B)25 (C)45 (D) 35
[9. (i) (B) | 9. (ii) (A) | 9. (iii) (A) | 9. (iv) (C)

Chart and Graph
O wwvfas, EfAigafay
A1 FeATgEER! TEGART T AT 2 |
@ fo1 (Bar diagram)
T & =1 (Simple bar diagram)
TSI T =R (variable =1 5w (value) w&ga T wam T Ty fees wiet weafes i | S« Aurern fesmgn
JTEET (373, 0%R,/090 FHH)
ENELEREIET] Ter=me g g sifae ( T gfaen gieh sifwa (| <1g g 6= giawn
(TFRY) TIR) TIR) YT g SITHA (FHRY)
% A ¥q TR 98 T &% TSI 93 G 3R TSI ¥ o 50 TSI}
AT P g STaee (311.9. 30§%/0%0)




30,00,000 T
25,00,000 T
20,00,000 T
15,00,000 T
g
3 10,00,000 T
T
5,00,000 T
Overall Total Irrigable Total ~ Total Trrigated ~ Irrigated Land
Agri. Land (Hec.) Land (Hec.) Land (Hec.) throughout
the year (Hec.)

g e (Multiple bar diagram)
A EHR TE TR T UH qeAges Yeiiid T ag wr fesehl i s | aeEn siaerel TR Siifeus
TAReR! T RS T SR REaE GasA araeel §1 a1 Tergeh! TImT TS |

TG U3 Tpern fafa v Rt Sl ¥ Shdgeeh! T

2008 2009 2010
Boys Girls Boys Girls Boys Girls

215 185 250 230 240 230

2501 7—
/=N ==
= e = -
€ 1504 A 7
© - -7 [ -2 B
3 7 7 Y
e) - ° S el
5 100+ o == e Girls
° - Fo
z =2 = ek
50— =
2008 2009 2010
Years
o e 3 | e foarneffewent TV 34 9l a¢T SERTS B
254
x 24
201+
18+
E 16+
& 121
!
41

2 3 4 5 6 7
gfatew fo o & svar

(i) =wfcasrn formeffer gfafen uf=r sve TV 869 2 SW: 24

(ii) wfafen ama sverm fo.off & fornef v *fda® 2 3W: 5

(iii) = wv w1 e feoft. g fomnef wem wfa® 2 3w 17
o I T faum e foreraes dem SEEuE B |



2064 2065 2066
St &

(i) ifers == 2066 w1 Wi forme™ =i fag 2 WX : 30,000

(i) Siferer == 2066 w1 fmeafos former™ wfa forg 2 392 10,000
(iii) Siferer == 2065 o1 Wi fommer™ wfa faw 2 3@ : 25,000

T R dTeiteh] ScTeA Wt T fesm feguan 51

a7 20t 5
5000
WYY
T ALF. R0%5 /%%
_ R T
[54000—— 'IH
2 "31'+
30001 thT
E T+
T+
EZOOO“ Tt 939 QUUS
+
1000 s i
e i i
Lt H
Gt HkE
T aTeAge
'El'ﬂ'@"@ﬁ]'lﬁl@l'l?'ﬁ YT, T@Tﬂ% TSR] STTHT I& 9+al Y hH fHAT g ?

:f‘ll'l'r[,":I%,"l'g‘z
TS Thetsh! Aaferd S foeneffeears SHieeehl 99 Ofea Iid Wedl a1 Bar graph 1 feSust sTgare!
AT I 9T |

-
|
T

No of students
N w ~ o o

I 1 |

T T T T T

i |

Jan Feb Mar Apr May Jun July Aug Sep  Oct Nov Dec
Month of birth

(i) =R afea wfa fornediea = TR ®s 2 SW: 6

(ii) =7 afeamn w91 9@ faeneifees! S0 quH ©s 2 W : July

(iii) =1 Afem T %y faaneffar S0 o ®S 2 SW: June

T Sfehen! €.15,000 H1fEeh el T Siehe Bar graph 1 S@RTH S 2




61

g T ThH (BSTHT)

R oqrer RIET @ gew a=
g frdwes
(i) fren T vrem i W&H @9 ™ ®S 2 W : %.10,000
(ii) T %0 FH T A ®WS 2 W ¢ TEH

geewfas (Sub divided Bar diagram)
Rl TLTRT HA Hehers fafg WoeHr faueH T wEgd THUE A TAR RS | A A I ufeel |e 3 SEsd sy
T Fesfent W1 RS T TS Wres 9 ST9ER fafy= @oem fauem 1fes |

TR Teleaeh! A, T I TG SR J9 ThR S |

4| 2008 4 2009 ¥4 2010
Y EGR U HH WwWR apeRl HH RGN aeetl
(W) (W.2) o) @@= | @) (") (W) (H2) (")
5,000 2,000 8,000 5,500 1,500 7,000 6,000 3,000 6,500
20,0001 ??;ﬁ
E3] wrr

15,000
h
1:2

E 10,0004

5,000 F---- FZZZ=
0 Y £2ZIz
2008 2009
a9
o HHAN TH I TR T fefd SERd @vew =1 (Sub divided Bar diagram) @@ fesua 51
16,0001
14,000 el
12,000 i

10,0001

8,000+

6,000+

k4,000

B
2,000+




(i) 3o UM a5 forderm @< el ®ed 2 STREFEM (%.4,000)
(i) THRT TR TG THH H/ MGRA T §Q WS 2 IW : 9= (£.5,000)
(iii) TamenT TSyl 9 WHE A e T E3 ®S 2 W : @ €.4,000)
(iv) THeT MR Hfd w2 3™ : €.15,000
@1 e (Line graph)
TEh] T GEId: T TTHT 16 | TR T9Reh! doall YRTehl Sreiae ] e fomg faaX <reieme X-axis T Y-axis fa= |
FaH @ =R (independent variable) @© X-axis @ T 3ty =X (dependent variable) @ Y-axis
TERA TS | TP qeATEEE. U7 TSR0 SRE T 3Ted a8 Tt e T T X XY i Hrafeud Aeee

o aeargeeans Sifra T Sifhd forgeeams X Y@reee St e ot fior s | St

2007 2008 2009 2010
16% 14% 25% 22%
T 25
2=
E it
E 15 |
E |
5 |
i
o fa€.2070 T 25 FeHE SUTHTR IR et SRS A9 T |
BLR| 6am 8am 10 am 12 noon 2 pm 4 pm 6 pm
ashe(°C) 8 12 18 26 22 12 10
TS @1 T qa ST 1] U6 |
: ol
N

o T3 foHien! STeudet l Teh UMl Aashe il act STHIfSTHeh! U <@l 941 |
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(i) 1 p.m. = forment arasrm sfd forll 2 W) : 36.5°C
(i) forwdrenr arasRa 38.5°C wid aer forll 2 3T : 12 noon (HEAe qR o90)
o U gkl 989U (Forecast) TR T ardfas  (Actual) arasha detshl TTHRHT SEETH] S|

—| Actual

35 |-

30 4+ --- | Forecast

| | | |
0 ] A ] I I L
qEd "qW T el @ hll
femr

(i) =7 foa 98O Aoshn T arkafaes sk e fordl 2 SR SHaR

(i) T sl TRt SE 99T TR oSk §A 71 2 3 28°C

(iii) ST SRl qYsRY FeluwaT FH FA o 2 3 : 17°C

(iv) 989 T SRfoeh ATshaH HE9RaT deish! T o fad forll 2 3R : ¥R (W 3°C)
O  FUTETHl Y Teh TTEhT IAEHA

e ®- 7 ST
L% 234 —%— % ERIEE]
=t 577 AT
E EvdB et

1 Loame o

T

t
]

&

el & mé?g &
URAET
() T T 3T hH T SATEH higel TTeh! forl 2 IR 37few a9 2006/07
(i) I FAHRT TS T STaH hfgel W o 2 I 37feR a9 2010/11
(i) UTETHT TS RT S Heh STGH higel U forl 2 I anfefes a9 2010/11
(iv) I 4, Teh TIGeh! STUTRHA Tl el THHeh] HHHl TEe i ? ST AWl 9H, Teh, 7§
11'I'z'i=llt=‘(P1e -chart)

Tges circle graph = circle diagram (33 o) ufq v | Iafas Te foaa X @nfes 91 9@ 3mhds
TS | 91 oot Trguish] IHHTH] Ty TRET SERS |

o  [TH gUH! HA SR Hel A @RS WA faf I Tueeeel Hat AT fafe= STeeeals ST | el
=3 & 360° (angle at a centre of the circle is 360°) A & 1% 3% 3f¥reh! vt fefmn gl
T, 1 FraTEeR! FeEde I9 fafears | Ful® Ticath! Terdel 3 dish ivee AR fafi wosge
TS| ]

o  The total angle at the centre of the circle is 360°. The central angle of the sector will be
fraction of 360° Degree of any component part




_ (component value )0

B ( total value x 360

o U3 e oAty qem 900 forneffeem wufawmn A faw faX qe ot TReh! 3teaad datehl pie-chart
7 TERTH S

(37)  hfa St foamefier Tiforg ueq €= ? I : 225 S
[ e faemeft @ = 900
71gl, 900 forneffaE 360° 1 90 I SERTH S |
Fraiq 360° = 900 St foemeft
900 5
.1 =%=—21%|'€|T?ﬁ
TIford UeA ared fammeff = 90°
5
90°=—2><9OGF|T =225 |
(3M)  hfd SRl o e = 2 I : 200 S
[ fom 9 = fommeft = 80°
5
. :Soxzw:zooerﬂ ]
(3) iRl e UG 9 ? I : 125
[ feguen! W= SIgEN |
el 9 e forameft = 50°

5
=50><—26r=n=1255r=n]

(3) hiderHmel el gd o ? IR : 350 1
[ feguen wg=Ie 198,
5
" Wwa@ﬁmﬁﬂw=l4ox—2w=350w]
o N TR Hedied wufas foae™ e 30,000 ® SHas 85Td 94U 9 <@ SHISTH Siehis TR B

?

% A =79.2°

e

(i) Tv=r o Wt foeme™ & fawra & =9 2 ST BT



(ii) wowr 1 wafhes fauem o7 fow & =9 2 S : Ui
(iii) foepm &mra Tym Wi fa=er=eh! G SgRIeTe ] SHH Tegerd ?
IW : AT, T¥=Hsad, Jaedd, Aediieadsad L geuuvadedd
Teha faenefiel Teh forn foas am e fegus!l © | 390 T+ Shahadars 9@ 9w_l SIeieh] ShoH Tiegerd,
| W : G, THESH, M TH, Wer, 37T

=
T

Teh 51 HHaRIh! AfgsH snmﬁrz.ls,odoh—c:lé 3T T61 TG UTEHIE SIFER IIaTad Teeh] Siehis TH! S |
ITh TEHTE &0 TeTehl T¥eEeh! 37K fagerd |

(i) 3O @HH &id &E 9 TS 2 IW:%.3,750
[ T STER
@A 25% T TS
@, %. 15000 =1 25%
15000 x 25
= —100 =%.3,750 ]
(ii) 3ot < vrel *fq fas 2 IW : %.4,500
[ s SIgHw,
I & 30% B
7@T, %.15000 =1 30% Y=,
15000 x 30
=~ 100 - %.4,500 ]
(iii) 3T ferermn fa = T 2 IW:%.2,250
[ = ST,
Torem 15% @9 5 |
7, €. 15000 #I 15%
15000 x 15
= —100 =%.2,250 |
(iv) S T i WhH T TS 2 IW:%.1,500
[ g $TgE,
WA= 10% @9 59 |
72N, £.15000 =1 10%



o

15000 x 10
=100 =%.1,500 ]
(v) 390 o= @ o Hid ThH Gaehl B ? IW: =%. 3,000
[ I SER, 20% 3 T S
el £.15,000 =1 20%
15000 x 20
=T =%. 3,000
arent fafyr (s W T % o et Afqusn! srewem)
I T = T qod — 3% T
= (WM T+ TE+ e TeE+ =R )
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feT FRUTfclehTeh] SE@ Tk a@ ® | F& 0 - 14 99 SR Tt 30%, 15-60 a9 TR T8 55% Y 60
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N\ N\

\\\ % @ 0-1 years, 30%

‘ A \\‘I % 60 and 60 above, 15%
]

\
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el 55% SAEE SERIH! S|
e, 1,00,000 %1 55% St

= 30,000 ]

5
=700 1,00,000 =55,000 ]

(iii) 60 = X Frv=1 HFrRT TGS Hhid B 2 3™ : 15,000
AT SERUIGER 15% 6@ A1 IR Tl 958 |
e, 100000 1 15% 9=,
100000 x 15
=~ 100 - 15,000 ]
HIBHEA STa f3ren sremaered s%ent U S famnedien gq aiftes @ %.98,000 i Sighis derehl TEae fSguehl
B | A YIS T qeTohl Je-geehl ST e |
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X e w = 5%

D TRATET 7 @1 @ 48%
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(iii) TSN ¥ EAM] i T & ? IW :%. 47,040
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1 LY. THEH! 3ToEA et &1 |

360
1500 x 192
. 1500 T3 91y, 9egl =" 360 - 800

(i) T FHH SFTAGA FAH TR D 2 IR : T TR
(iii) TS TEH Hiq SEE TG B 2 IW: 150
[ T5e Hee T 36° 319 faua B |
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1500 9 qord 9gem —— -~ =150]
360
IW: 1,250

(iv) TeTTEm T ST=RTd i STeE ekt S ?
[Fle: TR FaT SFrTd TR YR 6, e 998, 9% §HE 963 1]
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=192° +72° + 36° = 300°

o4

R

TIMEA Haret 360 ATl 300 |1 STFTeah B |
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9. U3 YRARh! I TG F. 30,000|- T | W URAR] T A @ T. R¥,000|- B 5 9 iawetz =

STFHR TS AT W] B |




(i) @A™ *fd & Ed U B ?

(A) ®. %,000 (B)%. 9,400 (C) 5,400 (D) 90,000
(i) 3= ferderm =fq @ YU ® 2
(A) ®.9,000 (B) =. 3,000 (C) 9,400 (D) %. 3,400
(iii) mfoes Tea HEA TR B 2
(A) ®.9,000 (B) %.3,%00 (C) . 4,000 (D) %. 5,000
(iv) M= sfa gfaerd & g ©S 2
(A) =3.33% (B) 55.33% (C) s4.33% (D) ©9.33%
(v) =nftes s=a frehregerd |
(A) =. ¥5,000 (B) . 40,000 (C) ®. ug,000 (D) ®. %0,000
[(i)B | (i) D | (iii) C (iv) A | (v)D
. UTH HETHT U] 1 [oaIeraHl U Torel SeaeTs qereh] Wl sl G&gd TR B |
5004
4004+
Ez»oo—-
B 2001
100+
T T T
el
(i) o foumerm e q @ ereaaRa faenel Hen &id Th 3 2
(A) 100 (B) 200 (C) 300 (D) 500
(i) = foemermm s forneft wfq weA 2
(A) 500 (B) 1100 (C) 1400 (D) 1500
S TR [ 23]
| (i) B (ii) C

3. THY U e T4 hasheaes urgereHn (Pie chart) Tiga TRURT B | 39t T+ Shahaars SIeiee sel sheH
TR |

(A) T, Tewd, o, fosdlt 39 T 9, g
(B) G, B, TewM, 1, THA 5M, 9.4, 3
(C) =7, fesft. ¥, e 717, B, TgaT oI, {1



(D) g1, T M, T, e, fe.oft. &, 37 I C

Y. T fRdmHel IcTeA Teh! TElTehl foerul qeteh! fersil JRga TRueh! © | Tersenl STaren Siuent geaen! 3w
feger |
3500+
30001
250071 e
E 2000--Eﬁa
Z 15001
10001
5001
S T S T
EL|
(i)  WeHAER! IR S oY hid 3 YIRS ?
(A) 500 (B) 1000 (C) 1500 (D) 2500
(i) /7 I YHM Y DR THE IR TUH S ?
(A) 1 (B) 3 (C)4 (D)5
(iii) ufeeh o e T T T Hfd = IARA W= 2
(A) 4000 (B) 3000 (C) 5500 (D) 2500

(i)C | (ii)D | (i) A |

qeres i, w9 (Data Checking)

T @ 99 Alphabet a1 Number @i fafi= dfteel frem@ fasust & | Samed € ol fasouge S&
(Identical) =11t Identical Srer u=h! fohedans S IS |

3. (i) 1Kab (ii) 1KAb (ii) 1KAB (iv) 1Kab (v) 1KaB
(A) i &iv (B) Iv&v (C) i &iii D)i&v

I (A)

R. (i) abco1l (ii) ab10c (iii) abc10 (iv) ab10c (v) abOl1c (vi) alObc
(A) i & v (B) i &iii (C) iv & vi (D) ii & iv

3¢ (D)

3. (i) gy (i) = 93v (iii) = ¥<9 (iv) * 9&¥
(A) i &iv (B) i &iii (C)i &iii (D) ii & iv

I (A)

¥. (i) Acbaz (ii) Aabcz (iii) Abacz (iv) Acabz (iv) Aczab (v) Aabcz
(A) i &iv (B) ii & iv (Qii&v (D) ii & iii

3w (C)

4. (i) beengs (ii) bings (iii) beings (iv) beings (v) beeigs (vi) beings
(A) iv& v (B) iii & vi (C) iv & vi (D) ii & iv

I C

(T i, ) Tt 31 SRR

1. (a) 10abc (b) abc 10 (c)a10 bc (d) abc 10 (e)a10cb
(A) b&d (B)c&e (C)c&d (D)d&c

2. (a) 420AC (b) 240 AC (c) 420CA  (d) C420A (e) 240AC
(A) a&c (B)b & e (C)c&e (D)d &e

3. (a) 12a4 (b) 124 a (c)1a24 (d)1a42 (e)1a24
(A) a&b (B)b&d (C)c&e (D)d &e



4. (a) 1lprd (b)p1rd (c) 1rpd (d) 1 prd (e) 1drp
(A) a&d (B)a&¢c (C)b&d (D)d&e
5. (a) ABc (b) AbC (c) ABC (d) BaC (e) ABC
(A) a&Db (B)a&d (C)c& e (D)d &e
6. (a)J1K2  (b)1J2K (c)2J1K  (d)1J2K (e) K21J
(A) a&b (B)b&c (C)b&d (D)d&e
7. (a) 1Qab (b) 1 qAb (c)1gab (d)1Qab (e) AgB
(A) a&Db (B)a&d (C)c&d (D)d &e
8. (a) Abc (b) abc (c) Abc (d) AbC (e) aBC
(A) a&d (B)a&d (C)c&d (D)aandc
9. (a) Beings (b) bings (c) beengs (d) Beings (e) beeing
(A) a&b (B)a&d (C)b&c (D)a&e
10. o fegust g€ Sentence W Weh! FTar T= ST |
(i) I passed SLC due to you.
(ii) | passed SLC deu to you.
(A) Passed (B) SLC (C) deu (D) you
11. i) We are human beings.
ii) We are human bings.
(A) bings (B) human (C) are (D) we
12. 2,4, i@, 3 ;1, 5°
+ 3
" 1 ) 5° O O\
e
1. (A) 2.(B) 3.(C) 4.(A) 5.(C) 6.(C)
7.(8) 8.(D) 9. (B) 10.(C) 11.(A) 12. (B)

Data Sufficiency
TAPT TIIoh! THILTRT T o Hha% (Statements) =43 fasheum Seilad Tsh A o1 ol heel THEIH!
THYE TES U ISge™ |
1. e S foenef wueht semm 9t Rank & ® 2
[. T 991 Rank o1 91 T qat & T YsRrame 39 31 T faq |
. 3R Tv=T 38w oify © YYSRaTR 39 3ff wmm s
(A) | 551 Sren (B) 1Tl 3 3 (C) Il 7= 3=

(D) = a2 |

3¢ (B)
w91, T 91 (1 + 3 + 30 = 34) <7 foeneff doett Tm=mt <4 | fohent 30 ST faemefi T o1 9t & | 3 50
Toremeft Tm X TRt si=m B 1 St 40 — (34 + 1) = 5 7 famnelf T w1 wife = awel TRt T 3 2
HUA || 91, 3R IurEme 37 3ff T ® 7! 7Y 3 Afee el TEE © 1 wUd |1 sl THawT g8 e Wiy B
T THRT T HiefiaTe S3H 16 |
2. O ARl &% ® gy ?

| oier feicTent |rgeh! Taedl BT 2 |

. firar Torer fom aifeet g

(A) | = (B) ITIgd (C) 1wt (D) &3 wf B
I (A)

(A | o1 Toir T e ufa ool g 9= s W e || 9 o g sie gy Ifaed 1)



3. g fo, faga ¥ g=n A Het 2 |
. foI9d g 91 sl W Gt TIRS w1 S 21
[l. G Gt 1eT g1 |
. g R 9=1 Siat g1 |
(A) Only land I (B) Only 11 & 111 (C) All'L, 11 & 111(D) None of these
I (A)
(@A | g1 91 faga e, R T FRe w1 Skt A g > faga > g URe
FA ||: Gl G Sl
A |1 T S 9= 9131, gk > Tt
e | T || 91e ITRehT fedrer Siere sl =1 > fager > gt > 1)
4, ofeen 9 fea & IRTES 2
|. wfeamen sifam feq g forn
II. wfgAmp T wfer qyu 3if fa ford
(A) | ¥ (B) 1T 11 5m (C) N=m (D) ga g 3w (C)
(e || 71 wfgamnt 94 3 foq wifar weufs ¥ 3if o7 JoheaR &1 R e | I e St foet o) o= onmsa
TaeH! | 999, 4 || TaTE B ST 911 AR 1)
5.  What s the color of fresh grass?
I. Blue is called green, red is called orange, orange is called yellow.
Il. Yellowis called white, white is called black, green is called brown and brown is called
purple.
(A) | 7= 3= (B) Il =t e (C) 1113 3= (D) % uf Ezsa: (B)
(A || 71 e a1+ s ufueniel grass 1 T brown 21 | &8 %A || 1 3 31)

| 3.3 Non-verbal/Abstract Ability Test I

Figure Series
qfedt gy fezsua foree FAET ATURAT AMEUH Y ARATE ATUR AR fegua fdewwed geer @A faaew
BAIE T |

Example 1

Lig = (B4 AT

A B C D E 1 2 3 4 5

Solution:

The smaller arrow rotates through 90° ACW and 45° ACW alternately while the larger arrow
rotates through 135° CW in each step. Hence, the answer is fig (4)

Example 2

o) + | 80 o[ +[O o)
4@ [ O e jo|e @ |
3

A B C D E 1 2 4 5

Solution:

In each step, the circle moves to the adjacent corner (of the square boundary) in an ACW
direction while the other element moves to the adjacent corner in a CW direction. Clearly, fig.
(4) is the answer.

Exercise: 1
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vvv

D@AUO

+++ |/ MN\|/3
Qj+++@
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Q |© 0 |©
s|  z s

D& B ||

A v Ala A A
X (XXX X
\"4 \"4 A A
1 2 3 4 5

X X X X X
OocA|OocAlAOCO|O0OV|AOCO

Z

TN UIANR

?

» ||
D

1
v

18. [ [

BB D

ADA
A




27. |0 O|lAa S 7TEI O t|@ Cl®@ OO O|® A
CsSjopo|  |eaA A O OAlAOlAC|OO
A B C D 1 2 3 4 5
28. 10 [ ? X + QG x & JL
A B C D 1 2 3 4 5
29. |xe]|Oo]| , [xea Aex|| Aex]| ugo](Oou] (oo
OO ||[x® " |nOo (oo |loOn | |xeA||laAxe |[AeXx
A B C D 1 2 3 4 5
30. 5 *
AR SR A S
: 15 L 1] 1 2 k| 4 5
ol R Do
B C D 1 2 3 4 5
2. UCjicn , (UCUE Nn3alaninuleE 3JCcu
n33au n3Jmmn3 yc|icufcijygnimn3
B C D E 1 2 3 4 5
33. — st By | S J 1 T 7
7 = —1 i)
3 N (SN N ol i il I '
34. 9
$FR3F| s ds %] |55 s ¥z s T
A B C D E 1 2 3 4 5
35.
SN T | LT e |
A B C D E 1 2 3 4 5
36. 1 T 5 - Ty : uju A
G[o] 7 [0T0] [O[O[OTO0
A B ¢ T 1 2 3 4 5
37.
@] " @\ |Alle]A|@|A
A B C D E 1 2 3 4 5
Answer / Figure (Series)
1. 5 | The arrow moves one, two, three, four ...... spaces (ACW) sequentially. The
arrowhead changes in the sequences, circle — arc — triangles — circles......
2 |5 | ar aeE st g e 2, 1, 3, 1, 4 ... R udiet Ren aw sy afeew @
3, 3 | fazuar Sefrr s fem 90°, 45°.... . Ri(cw) & Fee @ T At e s side change W
NS TEH T |
4, 2 | A% 9 T9eT 97 @« side change Wt &
5. |4 | fesuer aoft P s Peoree a9 aRads 9o R

] | <]

. T
Y Tae W AR aRaad de faemr st foa e e 9 )




6. 4 | IUF UEE WU AA AN gr@ I A AT (A ATSG B (WABT (97 AT ATSS, ARG car torA
FA &vs X B i for anee

7. |2 | 9cAF deF GEH fAT Seel g% AIE AeH | I '+ W FEAr age TSH g WA A e e €
ATH G |

8. 5 | yca® vk feguat cube ® gEAT Gife TR T |

9. |4 | 9a® dew Fui fgwawr Arrowfmika famas gweE €0

10. |2 |g@Fuek faaes 1, 3,5....8 G&d1 e g |

1. |5 T 1
feguat Sofrer s fomee L] 9t w99 srmfs @ g

2. |2 | =i afee femr aoaw el s arhv e 3 Rt fe e coed ¥ sy adikew

13. |2 | P fesuat wesn ol goaw dew 90° (ACW) &1 A IRad WU § X A Woa |
o AR Sy X P Tt o ey

14, |5 | 7= Ovimm eeie feguw Sefr & e wW WS TRE gS Al RE WS TN fAE uer
TSI | fegueet e (Arrow) +1, +1, 42, 42, ... FE@ T

15. |3 | RESUH e sEAr SRS WIESHT U9ET ATed ATSS cATddt aidl AMEAdl eRiie TSel Jaie
T9l TR ATeH AN AAIRG B IS qFaeT TSNS THaar ATe ASE, ALHAA TG 3 &R
e st 2T wenfe g5 e gqud et | wuA

16. |5 | Taar X@mes gcd® Step A1 UF THH A qig TCH G |

17. |4 | fegusr Sofmr for o 3 3 49K OF A9 REdw gOEET 9Et ST |

18. |4 | 7= oo ueE FH GERl grg oAl BTN 9al SRNSAUS | A9 (oAl GiEdl (AT A
AT 9O forT aRIeg X qas fay \if TR Seet g cawd | faa st afeew g

19. |2 fasuar f 90° (cw) & erTte Fedl © X T WU@ WEr ATHRG Iod® wdl faaH Fer T B
el AT & A TR G |

2. |5 | feuewr faemr afeet foemn atfex wRaer B e @ ¥ B user a0 @@ g | S g Sa
Ter B &xiE X A geer faar v afes 3 g Tew Pee i afteds wer @

2. |3 YA T (Ao, ool I a1 Uk Uep T THPN S

~
Q———-Q>
<‘o—ﬁ—-o
~o 7

2. |4 |feuw e gea fquika g @ @ 0 Arrow 90° (cw) X 90° (ACw)Iea® qe@ TR
= GE% @Al qasig AR 968 |

23. |5 | In each step each one of the existing half pins gets rotated through 180° and one of
the existing line segments get converted to a half pin. The formation of half pins
occurs in a (cw) direction sequentially.

24, |2 | T fesuet wwmww 90° (Acw)® & agdl @ X MY foa afex srans® X i st far sns|

25. |2 | fesmar fasm ' 90° (cw) & srmife medt © X M WOaT femee qod® 9ew (el A SAfeq e
ATTH T |

26. |4 | U oA auE B OF U@ stepd movew @ § T Yodw (AaAl Seel WU § a9y 9%
TF TF step MovewTH @ I FXF faawl Fal T el g8 JNE qeH G WA A TF T step
MOVesTH T |

27. |5 11

®
*®

ﬁ?@hﬂTWWW’&WWWWl
_TH |

T gt side®r |ty wat foer

Fﬁﬂ'&cﬁfraﬁﬁalzwﬂw&aﬁﬂw@%atmﬁwﬁmﬁwfsidemaﬁ&ﬁmn




28. (4 | fesusr o afget qew o 45° (Acw) TR X #El AT 9O fare afres cagats gt 45°
(Acw)gws 3 &1 WIFT 9o o aftes

9. |4 |Feuw e okt qe® Wiided! WWTHT WUHE I Jedl NI WU (aEes ad Wi geg <
TAQURY AeAT AETHT X dedl ANTHT 93t Mo Jiee s |

3. |1 |fEuer avimm wuwr ofeet femr woEr arEfiee A9 WiQ d9fewl 3 Q€T ATERT Seal HOR
TRATT WU G AAA FAHL (oA HT A(QT G I TGV oo Ut AT Seel WUR IRaa T gva |

31. |4 | Fewr(Arc.)ycd® 9e® (ACW)F A T4t afueg T wTaE (Arc) (cw) & srmte ag@ |

2. |1 | Teewr P 9@t fegua @v o | feeee 90° (cw) srmts aed S |

33, |2 | afr¥ 'L smefe T gug (Acw) 1 RE 19w R P W 'L smeies a9l aRadT gee |
1 4 6
2 5 8
3 6
9

34. |4 | 9e3F YeE AT side W WUH U WA <GS X AT side W MR afrem 1 &raAt sidewn
qrAdTEt gt ¥ aratar afiE a6

35. |5 | femwer fe= 90° (cw), 135° (Acw), 180° (cw), 225°Acw ....& aRadd 9TH & | Arrowdr
WUHE ATgTes —1, +2, -3, +47 TeH S |

3. |1 | hexagon® 9ger wrgmee (cw) w3 T ¥ SR corner @ WTH W@EA (CW)H I’ & <
qfel, TGY X TN TF Tho T3 G |

37. |3 | fesuet T Bt o =fer onsg X 3t gvw v B Tt B sneg afe e st aeet §

Figure Analogy

e feguen faseens) ufea Wl foxt Sl T 9= eSgerd ¥ o9 fesmin 9l Ty g fasmeaen! B4 9 |

1.

=Y

Z

I

OIBONOL'
7

1 N

X
VN> 2
<

DD ?
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J
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12.
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g
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d

d
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J

10.

?

a
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A
O

"

<

d

Sib=
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17.

d

g

OlPB||O] 2

@

<

18.

a

I

@

<

D.
=N K

A gl [ A | ?

@

<

d

o

Ans.
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«©

Figure Classification
fouar FrEEwed F TF wXF M T AeTE |
Example

G000

@ (b)) (¢ (d

Solution: In this case, all the figures, except fig (e) can be rotated into each other..
o XK
2% <
o o} fo) o
(a) (c) (¢)
2.
(a) ) (e)
(@) c) (e)
(a) ) (e)

STE[S

EXERCISE
1.

FIZ




7\

w—

LN

W

)

(a)

(b)

(c)

(d)

(e)

SORDRBERRD

(@)

(b)

(c)

(d)

(e)

)

S

a

O

)

()

(&)

(¢}

()

(e}

[\

\J/

10.

11.

12.

(c)

(d)

13.

A

i

K

I

(c)

(d)

(e)

14.

\»
da

4
4

q

(<)

(d)

()




(e)

(d)

(<)

(b)

(e)

(e)

(d)

(d)

(c)

(c)

d (e

(c)

(b)

(b)

(b)

(e)

(d)

(c)

(b)

(a)

(a)

(a)

(a)

(a)

(b) (9 d (@

(a)

P AP

DDA

23 D Y

NV vile

CIIEE| O [

@O

' ©0©OIO

Type 2

fewept e wud e B g

T Civie oA
” PRl ek
*[AFEe] [AlioDle

25.

Answer sheet

10.A

9.C

8.B

6.D | 7B

3A |4D |5.C

1.D |2.A

11.C | 12.D | 13.E | 14.B | 15.A | 16.D | 17.A | 18.C | 19.C | 20.E




Q|-

o)|(o

)|

o] 2

)

)|(

® —¢ ¢ ot
(@) (b) () (d)

TK[EE
O

~
o

21.4(22.2(23.5|24.3]25.2

(d)

g PYF's

& X
Tl 2
JERIE

@ (o) (o (d)

Mg o | <D
< Odn| o
dgol<r| !

Sesit e aio

Find the missing figures;

Figure Matrix

[\
\2/ \2/|L2]
&\ (L7
SR ?

A [\ [ 15 |[(

(a)

©

M
FIG3 2
ADE

(b)

EAEIRENS

6.

?

i
[0 | (IO |11

o LT

o [ [IIT]T]]
o [TIIIII0 o I

A\ A\ AN
O|D|D

XN

(a)

8.

(b) © (@



¢ |-o |-o

Akl

¢ o |2

¢4 oo =l o]
9. @ ® © @ 10. @ (b) © €
Answer Sheet:
1. 2(a) [3(a) [4(d) |5. 6. 7. 8. 9.(a) | 10.(d)
(@) ® [ (b |

Analytical Resoning Test

S TS, o, ST, TS AN NS S T T 5 | I A e, Sgys enfe o W Shar

AReEE TFER Seorg TTRTH B
IERCRINGH
Type 1

— A

/ \

JEICRERE! 33t oy
REICRERE

T TS TTUH] 71T SR HEATAqIes |
Type 11
3x 3 = Oairr g 3x 4 = 125t P 35 =15 e
T3 Forysent vifargaTe faulia Yl Teafarg Siel BIysiar fasse Men! steeem, Brysis @@= 3n (n s
YR T HEART)
3% 4 = 123 frys 3% 3 = 9ir oyt 3% 2 = 63ia By

Tforeh! STEdl Foarl Ware® fieishl SIS e T 3n G TN T |

Type 111




n (n+2) = 3% 5 = 1537 B

Z

1’1(1’1+2)=4X6:243ﬂaﬁ‘ﬂ‘_’[ n(n+2)=2><4=831‘|€l%r‘ﬂﬁr

TR ST For R fHeteh] SR e T n (n+2)gF T30 T9eM |

Type 1V

1/2/3] 415V6\7

: (gﬂ) - 7%8 — 2 8aia forgw

ﬁaﬁaﬁﬁm%mﬁﬁ&aﬁﬁwmﬂﬂ@ﬁrn

AARINY

n (n+1) 5%6

2
ﬁf‘ﬂﬁ

= 15x3= 453

AR VA

A\

+
n(n 1) 5x6 _15X2:303ﬂan(n+1)_ 7x8

2 2 2
f?r‘ﬂﬁ SICRERE

6\

8x4 =112

o e (““)

T WA TR T STEReh] WaTh! AR OF e |

6 x3+2 =209

8 10 10

8 +10+ 10 =28 Tafarygs




10

el et 8 + 10 + 10 = 28 a1 &yt =1
a8 + 10 + 10 = 28 =@ frget = |
ST 8 e Tyt |ivhl w1 q9e gefys 28 + 28 — 8 + 4+ 4 (ga) = 56

Fel =TIy X qe 3/3 9 et = 1 sirem 10 T8 T S 24 3 s =

NEERERE

A\ A

16 =1 st 11 52 oyt

st fast oSt o @ forystent 5@ = 4n - 3
ieRttesm, 4 X 3 — 3 = 9 o s =

4n —3
=4 x4 -3
=16-3
= 13 ==& By 51
EUEIREER RS IPREIRE 5 K NE
REUNR Nt 2 ) ol ik f
FryysTeER! Hem ' - -
* 61| s 7|6
4x2=8 6X2=12 §X2=16 8X4+4X2+4=44
10 1 st frRmfes=r (D) S YU&RR A6 TS B |

RECAERE| T,
6 x5+5=35zatnE




i o 3 9@ Row T 3 9 Columneshie s &t = 324+ 22 + 1
=9+4+4+1=14 gaei

6°+ 57 +4° +3°+2%+1°
=36+25++16+9+4 +1
=9Olem

Row TColumn SR 9T,
M HeRfE 1 T Fieh! IRt + (50 S - 9 S8 ) x (S Seeia 1 S et 9)
miferent fesm, 3 row T 12 column =91 7@,
3P4+22+ 1P+ (12-3)xB+2+1)
= 04+44+14+9x%x6

= 68T
JIRATd JoTel
FRcRow &1 ¥&mm T Columnahi H&IN HUASTHRIEGR] T&
_n(n+1)xm(m+1)
R 2 2
N n(n2+1)xm(rr;+1)
22+ 2@2+1) 6 _6
= > X > —2><2—9‘o|2rarrq1a®={|
+ +
P n(n2 l)xm(rr; 1)
44+ 33+ 20 12
= > X > =5 %5 = 60 = 3= B |
+ +
Wraaﬁrwmn(nz I)Xm(n; D
~90G+1) 44+1) 9 20
= 7 X 5 ) ><2 =450 =21 3 =1 |
Questions

UY JAgL:




11.

Line

(@) 10 (b) 12
(c)14 (d) 16
Square

(@) 10 (b) 12
(c)14 (d) 16
Rectangle

(@) 7 (b) 11
(c) 9(d) 13
Line

(@) 10 (b) 12
(c)14 (d) 16
Square

(@) 12 (b) 14
(c) 16 (d) 18

Triangle

L

(@ 8 (b) 9
() 10 (d) 12

10.

12.

Triangle

LR

(a) 8 (b) 10
()12 (d) 14
Parallel

[/ /)
[/ [/

(@) 40 (b) 50
(c) 36 (d) 30
Line

(@) 15 (b) 16
(c) 17 (d) 18
Triangle

(@) 27 (b) 23
(c

)25 (d) 2
Triangle

(@) 2 3
(c) 4 5
Triangle

(@) 14 (b) 16
(c) 18 (d)



13.

15.

17.

19.

21.

23.

Triangle
(@) 17 (b) 19
() 20 (d) 22
Triangle
(@) 14 (b) 16
(c) 15 (d) 20
Triangle
(@) 44 (b) 48
(c) 56 (d) 60
Triangle
(@) 16 (b) 18
(c) 20 (d) 22
Triangle
(@) 10 (b) 12
(c) 16 (d) 14
Triangle
(@) 20 (b) 21
(c) 27 (d) 23

14.

16.

18.

20.

22.

24.

Retangle

(@) 12 (b) 10
() 14 (d) 16
Triangle

(@) 28 (b) 30
(c) 32 (d) 36
Triangle

(@) 26 (b) 27
(c) 13 (d) 18

Triangle
2%

(@) 26 (b) 27
(c) 28 (d) 29

Line

(@) 8 (b) 10
(c) 9 () 11
Triangle

(@) 21 (b) 22
(c) 23 (d) 24



25.

27.

29.

31.

33.

35.

Triangle
(@) 25 (b) 26
(c) 27 (d) 28
Triangle
(@) 26 (b) 28
(c) 30 (d) 32
Triangle

(@) 10 (b) 12
(c) 15 (d) 16
Triangle

(@) 10 (b) 11
(c) 12 (d) 14
Triangle

(@) 29 (b) 27
(c) 25 (d) 31
Line

(@) 7 (b) 8
(c) 9 (d) 10

26.

28.

30.

32.

34.

36.

Triangle

&

(@) 10 (b) 11
() 12 (d) 13
Triangle

(@) 24 (b) 26
(c) 28 (d) 22
Triangle

(@) 20 (b) 21
() 22 (d) 23
Triangle

(@) 28 (b) 30
(c) 32 (d) 34
Triangle

(@) 36 (b) 38
(c) 40 (d) 42
Square

(@)7 (b) 8

(c)9 (d) 10




37.

39.

41.

43.

45,

47.

Square

(a)
(c)

40 (b) 30
36 (d) 34

Square

(a)
(c)

25 (b) 27
29 (d) 23

Square

(a)
(c)

24 (b) 20
22 (d) 18

Square

(a)
(c)

Ko

16 (b) 18
20 (d) 22

Square + Triangle

(a)
(b)
(c)
(d)

10 Square, 44 Triangle
12 Square, 50 Triangle
10 Square, 40 Triangle
8 Square, 42 Triangle

Triangle + Square

(a)
(b)
(c)

26 Triangles 5 Square
28 Triangles 5 Square
28 Triangles 6 Square

38.

40.

42,

44,

46.

48.

Square

(@) 12 (b) 15
(c) 18 (d) 20
Square

(@) 18 (b) 17
(c) 16 (d) 15
Square

(@) 16 (b) 18
() 20 (d) 14
Square + Triangle

(@) 10/20 (b)10/32
(c) 12/40 (d)10/24
Square + Triangle

(@) 7 Square, 28 Triangle
(b)  5Square, 28 Triangle
(c) 6Square, 28 Triangle
(d) 5Square, 32 Triangle

Triangle + Square

(a) 36 Triangles 7 Square
(b) 38 Triangles 9 Square
(c) 40 Triangles 7 Square



49.

51.

53.

55.

57.

59.

(d) 26 Triangles 6 Square
Square + Triangle

N
N

(a) 21 Triangles 7 Square

(b) 18 Triangles 8 Square

(c) 20 Triangles 8 Square

(d) 22 Triangles 7 Square
Triangle

(@) 20 (b) 22
(c) 24 (d) 26
Parallelogram

(@) 18 (b) 20
(c) 24 (d) 26
Parallelogram

VAN

XXX

Vv

(a) 8 (b) 11
(c) 12 (d) 15
Rectangles

(@) 10 (b) 8
(c) 9 () 7
Rectangle

50.

52.

54.

56.

58.

60.

(d) 42 Triangles 9 Square

(@) 10 (b) 8
) 6 (d) 4
Triangle

(@) 18 (b) 24
(c) 25 (d) 26
Triangle

(@ 9 (b) 18
(c) 27 (d) 36
Parallelogram

/N

(@) 17 (b) 13
(c) 15 (d) 19
Rectangles

(@) 20 (b) 18
(c) 16 (d) 15

Pentagon



(@ 8 (b) 10
@) 8 (b) 18 (c) 12 (d) 14
(c) 17 (d) 20
61. Pentagon 62. Rectangles
(@) 30 (b) 32
(c) 28 (d) 26
63.
(@) 11 (b) 12
(c) 13 (d) 14
[S TR >STh]
1.(b) [2.(c) |3.(c) [4.(d) |5.(b) |6.(c) |7.(c) |[8.(c) |9.(a)
10. 11. 12. 13. 14. 15. 16. 17. 18.
@ J© |b |[@ |[@ [ |[@ [0 |d
19. 20. 21. 22. 23. 24. 25. 26. 27.
b [ [ @ [© |@ |@ [@& [(b
28. 29. 30. 31. 32. 33. 34. 35. 36.
@ [© [ |d [© |@& |@ |b) [(©
37. 38. 39. 40. 41. 42. 43. 44. 45.
b [ |(®d) [ (a) (a) b [(b) [
46. 47. 48. 49. 52. 53. 54.
b [ [ @ (b) (b) (a) (@ |
55. 56. 57. 58. 59. 60. 62. 63.
d J@ [ J@ [b | (b) (@ [()

Figure Formation and Analysis

1. TR X 9T MRS SRl dhel foheaeeded H A 958 ?

V/ o

A ]

| P

&

X)

(A) B ©

(D)

2. T X 9NTeE AR <@ dwe faheugered A JMeid 9 ?



N

S @  ®  © O
3. TR X YNTeE AR IR dthe faskheusedsd | 3hfa 9<s 2

VA |
(X) (A) (B) ©) (D)
4, T X TRE THASS I T fashcugered F Hid 9<s ?

D ?y %/
(X) (A) (B) ©) D)
5. T X 99187 %A foheqs vrTee WM 7T U8 2

ol e)le]le]e

X @ ® © O
6. a1 X 9= dorht fasheugensd % fohedsh wrTesars g4 A=y 1% 2
2\ \JYI [\ N
NZENINNIINEZINN 1IN
= W ®  © O

7. a3 X 993 qoreht foshedsens g fashedsh! YrTeEa 94 fHasg 18 ?

X) (A) (B) (©) (D)
1. C 2. A 3. B 4. B
5. C |6. A |7 A
Rule Detection
1. Choose the set of figures which follows the given rule.
Rule: Closed figures become more and more open and open figures become more and
more closed.

Sl AN N N

o === =

= [>=_[>= [>= [> ]
Al  B)2 C)3 D)4 Answer: A) 1
2. Choose the set of figures which follows the given rule.




Rule: Closed figures become more and more open and open figures become more and
more closed.

- [Pl

ca Z,A = L/_:A

A)l B)2C)3 D)4 Answer: B) 2
Choose the set of figures which follows the given rule.
Rule: The series becomes complex as it proceeds.

< [EA| LA | T BT

E>M>[

A)l B)2 )3 D) 4 Answer: B) 2
Choose the set of figures which follows the given rule.
Rule: Closed figures losing their sides and open figures gaining their sides.

@ KKK
= KOKKEKED

- (K K=T=Y
< [KDKDK=)
Al B)2 C)3 D)4 Answer: C) 3

Choose the set of figures which follows the given rule.
Rule: As the circle decreases in size, its sectors increase in number.

(1) @ QDB | @
@ DD | @ | =
o PO ® | @

®

@ || DB
A)l B)2 €3 D)4 Answer: D) 4

Choose the set of figures which follows the given rule.

Rule: The series becomes complex as it proceeds.

|l &

I g
ERI=S
SOOI

A1 B2 O D) 4 Answer: C) 3
Choose the set of figures which follows the given rule.

SEON
OIS

(s)




Rule: Closed figures become more and more open and open figures become more and
more closed.

C |l llo
L || o
OO
<SR |2

Al B)2 €3 D)4 Answer: A) 1
8. Choose the set of figures which follows the given rule.
Rule: The series becomes simpler as it proceeds.

- RS ®
A)l B)2 )3 D)4 Answer: C) 3

Water Images

el TEGD] B T TS AN TG R A T T TRRT YA e afEe Sihfaens ae <fa stepfa
(Water image)4fs |
B TEEEE! Uil 2Raa 3naf

Ia)

SBPE

Letter | 0 (1 |2 |3 |4 |5 | 6|7 | 8] 9
Wat

Imaa;(ra 0|4 (S |3 |t (2 ||\ (8 ]|a
3fash alphabet @1 Capital Letters ® urelion &Rael snafa
Letter | A /B (C|D |E|F|G|H I
mace | V|B|C|D|E|E|C|H| I
Letters| J | K |L|M|[N| O| P[Q| R
Water

Image 1T K [CT/N N |O|DbBb|O =1
letters| S | T |U|V |W| X| Y| 2
e |2 L |n A (M| x| AlS

TAF FAEER! AT IRGw SATHRT & & ?
1. = foeR arm o Segfd o< 2

&0k YOR

2. 3 oo um SfEs seRfd A 2




Z

qeten! Torst X'l I SfEs mehfa A @ 2

X N

-

-

>

-

x

N X

X

(X)

(A)

(B)

©)

4. e fo=r X' ar 2fe stepfa A R 2

Xﬁm@ﬁw

A)

5. mmﬁﬁ%rXﬁhm%mﬁ@#%@ﬁ%ﬁ@?

= (o} ®) © :’\/(813)<

6. T far X' e afEn segpfa A R 2

(D)

S HE

f#//ﬁf

x) (A)

NUCLEAR
(1) BYETCUW
(3) WUCT 3VH

SW: 4

bridge
(1) priqde
(3) pr11gde
IAC: 2
? GRYBAPTGES
(1) CK68YbAOES
(3) CHa8YbARE®?

I : 3
GROBAPT6ES

(1) CK6BYbASER
(3) CHasvbieE?

B) (&)

(2) UNCIEYE
(4) UINCT EVE

(2) pLigds
(4) pLipde

(2) CHaBVbiOER
(4) CHA8AbARES

(2) CYoBYbLLOE2
(4) CHO8AbARES

(D)

10.

S

3¢ (B)

3¢ (C)



AR dnEnA L W:S

ab45C067 -
(1) 8PYRC0EL  (2) pyaCDe)
(3)8ppRCOOL  (4) sppacDe)

IW: 2

12. ACOUSTIC
(1) YOONS.LIC (2) vConeliC
(3) yConslic (4) yConeTIC

I 2
P NhRgSy
(1) NVBd2h  (2) YuBdaA

(3) eydah  (4) ppgded
IW: 4

(%) T foaeedr AT IfEw ATEHST FHA A 7

NP X [N

) (A) ®) ©) )
2.
X +
) (A) (B) (C) (D)
3. @
(X) (A) (B) () D)

6|90 |e |9

(X) (A) (B) (©) (D)
(@) AAGeNT AFRECH! (Heal (AR THW Tl ASTerd
ANS43Q12

5.
(1) AUSHEQIS (2 SHOEMCHA

(3) SHAEROSH  (4) 1SOMEAUE

I (C)

3wt (B)

ER ()

s (B)



I : 2

S TARAIN1014A
(1) AMPOTMIARAL () AOISVIARAT
GIALOIATARAIM () ABLOTHAI ARAT

I : 4

7+ EFFECTIVE
(1)3VIT3R3 () EVITCEFFE
() IRV () IITOFFT3

I 1

247596
(1) 695742 (2)€9ETAS
(3)ShT203  (4)Q02TAS

S : 4

9. PAINTED
(1)Q3TNIAG (2 3THIAS
(3) Q3LUIAG  (4) ETWIAS

I 2

Cubes and Dice & Venn-diagram

SRY G ThTehl 5 |

. Standard Dice: opposite face T T kel I 7 & |

° Normal Dice

TR Th YT ool URee® Ifges | die) foriaer aRes® Ifas |

SISADI JAAXATET JdIEGdel dEl JAIeT IURIGE

9. 1% 33 A SR [GUH B X (S Ak F9 SRUHl USZ TFHN [G5TH! B 9 At SAhah! TAURA T Wh! SAch
Terepre aftent

1ﬂ 15 T g Tead 1 feue T T3 e B

6 3 151 faufa gmaem sfehe® : 2,3,4,6 forant <t e | T g1 Sfaue & |
TEHR |1 foafia Temmn it wWent 3tk 5 9 1 1 foufia Temmn o=+ 96w |

. IR g8 AT IEH RUS! © I TS 3 g9 SRUH! [S3Uh! B T T Flh TFHI S 4 A 3eheh] Taq1a TTHT Wbl
ek Trenten aftem

T A g SEE 1 SfEusl S W wE e
e HeEe 3 T Clockwise a1 Anticlockwise E0H1 @IS oiETed
1 j 3 a Anticlockwise fer, ufeen sgom: 1, 6, 4

Anticlockwise fas, @i egam: 1,2, 3




7Y 3ferent FamegER 1 1 foufta T 5 g | fok 90 Yol Sen wifoehl Sem]
fagfia worm & | 9% : 4on1 faufia e 3 1 6 i faufia wommn 2 ases |

LR

qﬁgwaﬁwﬁ@aﬁ@mmm@mﬁmm

TS g3 AT SEHHN M@ Td-ael HEeeeded gl 33ad HEeewsel o 9 dlehl
Th! JhE® o Teh Nehish! faufid g=+ | % fost [ TIL @1 1 1 3gam fauani 51

SRt 2 X5 ek 3Tehieht faafia 3feh g1 | =&t fat [ T 11T ™ 2 T 3 gomm <faeh
(i) (m) B dienl 1 T4 Tk 3Tehiont faqfia 3teh g |

Y.

IS H1 UT A5 THM D 9 THE GHIEM T 1<l

@ aﬁaﬁqﬁm@wéﬁnﬁwmwaﬁrﬁmﬁﬂﬁﬁm@ fergeret |
\ »

12 1 =1 fauf@a 6 g1 ! 1 =1 fauf@ 5 &= ! 1 = faufd 4 &=
B 2@ffaa el | D fafwd g E : 2 1 foafed 6 &1
15 31 foufm 5 w91 ] 31 faufa 6 &3 | ST5] 3 foufa 5 w91
l 1 =1 faufa 4 g=1 1 1 =1 faufa 3 =1

2 j 3 2 31 foufia 5 &1 § - 2 9 foufia 5 &1
- 3 1 faufa 6 91 : 4 = fqufa 6 &1

6

ﬁﬁrx =i Sheet WW@WWWW|

%@@@@

(@) (© (d)

T w3 seuei fafy= aferl SERTe! B 3w 2 =i faufa Face M &S 2

P P\

(i) (ii) (iii)
(a) 6 (b) 5 (¢) 4 (d) 3
oo gl wlw (Standard) SEUTE SEREH B | HifUe M TS T Ui 3 et o | fiee
Tl S ST SRt ARt TR |

(a) 6 (b) 7 () 8 (d) 9
TeTeh! ool T3 SRUeE fafyeT afienrel SERT 1 A @i faufa@ Face &



A B M K p H
(a) H (b)P (B (d)M
5. o faom wse sraai fafv= afte SEmRTe §1 A T B W H T S §9 2
1 3 3 (B)
6 4 1 2 5 6 (A) 5
(A)2,3 (B) 6,1 (C)1,4 (D) 3,1
6. T3A TR W HESAE VMU B | W ol FYATE GO WESTh! FPoe® il Th <1 g TN gohl IR |
Hiae TFEHH TS 7 9ES  TIEUaH!  faeged 2
(a) 8 (b) 16 (c) 24 (d) 32
7. wmw@?mmmﬁ:@wm@wmm%w?
(1) ii (111)
(A) A (B) € D (D) E
8. wwmwmm&mmwmmmawmmm
I i T Frregem 2
(A) 12 (B) 13 (C) 15 (D) Fmeshei
9. T ez SrEw 1 o faufa T T i §S Tl TRISIR |
1
6
2
(A) 3/4 (B) 3/5 (©) 4/5 (D) 3/4/5
10. Tt feguen sgam 1 1 faufia e 7 sie 35 T s ged |
1
5
3
(A) 2 (B) 6 ©3 (D)4
Answer
1. .(B) 2.(B) 3. (C) 4. (A) 5. (A)
6. (C) 7.(B) |8.(C) 9. (D) 10. (B)

1.

2.

Vegetables, Potato, Cabbage

Table, Chair, Furniture




10.

11.

12.

13.

14.

15.

16.

17.

18.

Week, Day, Year

Judge, Thief, Criminal

(©)o

Husband, Wife, Family

Square, Rectangle, Polygon

Bus, Car, Vehicle

Anxiety, Intelligence, Strength
el
O

House, Bedroom, Bathroom

Mustard, Barley, Potato

O
C

Elephants, Wolves, Animals

Metal, Iron, Chlorine

Oo

Mammals, Cows, Crows

(©)o

Women, Mothers, Widows

@

Authors, Teachers, Men

&

Kerala, Bihar, India

Automobiles, Cars, Motor-cycles

Brick, House, Bridge



¢ P

@

19. Tea, Coffee, Beverages
20. Boys, Students, Athletes
21. Tennis fans, Cricket Players, Students
22. Flowers, Clothes, White
oy
23. Smokers, Lawyers, Non-smokers
oy
24. Human beings, Teachers, Graduates
25. Males, Fathers, Doctors
26. Fathers, Uncles, Men
27. Musicians, Men, Women
oy
28. Whales, Fishes, Crocodiles
e
o
29. Anti-social elements, Pickpockets, Blackmailers
30. Tall men, Black haired people, Indians
TgARITTH T
1. USel T @ [endiee Aed Feeedl G T, FEeedl Gl Weal deaX © W [GSUs &9 dAie T
T fardiees dEeaTars gramea T 996, 7
a) 56 b) 63 c) 66 d) 70
2. UQE FEW FE IvHE% O Tel ToAF Ioaq 4 TS R & & A 3 927 a7 @il gr@ ¥ 3 SArH
TA T B 9 3 T WG TG, 9 AN AT H(T AT AMHAEE BT ?
b) 48 b) 30 c) 45 d) 40
3. & FEATTE i G TS U & A9H UF RS g
1 1 1
4. 2w 7 S vEe = d

61 36 68 71
)T b) % ) o 4 To



10.

11.

13.

14.

15.

16.

17.

B & #m 18 fa7wm e | B W &THar A W wvar 40% F T G AN A F I FH F e
TRET ?
b) 10.2 fer b) 10.8 f= c) 12.4 f d) 12.6 fe

?@'WF.ZOOOWW%.Eaﬁz/SﬂTaﬁT?F%r%?ﬁWH@?E?

b) 30% b) 40% c) 50% d) 60%
Which figure replace “?”
L] OS
LA\ 2
a. b. c. d.
FY TGP AR IMTH T T IYH ATER TaAlR FIPUH T A ITH SAT 81T %[GR &e, ?
a) ™ b) ait=w c) SR d) zfer
If DOLL=6199, COCK=5153, CROW=5812 and FOOD=4116. Then RICE=?
a) 8753 b) 8756 c) 8051 d) 8057

FA TR a9 KUt fawereears @ aRE IS
Furniture, table, Chair

9 c° @O

© forara ST StEd S0 W | AR SENTEET ¥ ATHETEr SFhr ST YU X THTSH ¥ FAOTEr HHhr S €3
T WA S e s FhT A ?

a) %o b) ¥R C) WY d) ¥z

THAD JTd QAP Heal W UfAd I8 & | QTHD dodd JHD gl Pid
yfaRrdel & T 2

A) 16.67% B)16.33%  C)20% D) 25%

Pl TEIT AA; o T R0 UfANTA J g Lol IR I6 g § Ufaud fAsdpregerd

|
A) 30 B) 32 C) 45.5 D) 35
APl HTFETAT B Pl Heel T €oo of dol, B &l T C P Heal 0 gfarder

PH B | SAEIH SFFAT A T 3¢9 HT CHN I BT oo 2

A) 1250 B) 1300 C) 2000 D) 1500

TEIH Hed ool ¥ Heal A a¥ ¢o UfAerder A | AT a¥aA FAA
SUHITT T BRAH Tl D! ol TRAVEAT Hid Gfdrde AT TUEs 2
A1 B)9— )8 D)10

T3S AATD A AH IFA @I ¢o YIA™AT T AT AP ddd I 00 oo ¥

S HAT Th 3T Hhid el ?
A) 12000 B) 9000 C) 10000 D) 11000




18.

19.

20.

21.

22.

23.

24,

25.

26.

27.

28.

29.

30.

Hfd HID %W ¥ AR GO 2

A) 40 B) 45 C) 60 D) 50

Pl UAETAT 0o HIFHAT 290000 HNAH YT I FAFEIT g geX R Uiard U
A R TTTAT AT AP TATEIT Phfd BIeAT?

A) 155000 B) 154550 C) 155550 D) 156060
If 0.75 : x :: 5:8, then x is equal to:
A) 1.12 B) 1.2 C)1.25 D) 1.30

If 40% of a number is equal to two-third of another number, what is the ratio of first
number to the second number?

A) 2:5 B) 3:7 )53 D) 73

In a bag, there are coins of 25 p, 10 pand 5 pinthe ratio of 1: 2 : 3. If there is Rs. 30 in all,
how many 5 p coins are there?

A) 50 B) 100 C) 150 D) 200

A sum of money is to be distributed among A, B, C, D in the proportionof 5:2:4:3.If C
gets Rs. 1000 more than D, what is B's share?

A) Rs. 500 B) Rs.1500 C) Rs. 2000 D) None of these

g AW TS SBAAT grATare 23T TAHAT T ddiare il AT e Ha
3Fd ASAHAT Bid AT AfAF Bl ?

A) 16 B) 15 C) 14 D) 17

AT T HoUT HETTAT Merit Pl MURAT 1137 T 1237 ®AHA o | I
FETAT STFAT 41 Sl Sl 0 SAIgs Heddle Haael: Hid AT HAAT TS 2
A)29& 30 B)30&31 C)31 &30 D)31 & 32

Pl MSAAT TH IFMSIGIE 2037 TATHA S dAT 1A USTEIE 3137 TATFAT

S | Sgd TH I WHD Seb dIAT FTOT & | TG QAAAT 30T 5 ATSAAT

TH & T H WIS STFAT 66 Sl hidded O HA THA T PHOUP =&
Hid JT AfFAeE erelle] 2
A)S B) 6 C) 7 D) 8

AT T3l TS T Yoo AT Pl T o0 HAJH off T WI IS | 3T &A1 T
to UfAAT ATHIAT T WA Tidl IhT Hed Hfd dlenm 2

A) €0 B) 4o C) o D) £¥o

USel YSAM Hhd Hed & ¢oo T | IR THeld o UiAd P fow dear
SHATS T §0 ARl §eo 7 UHeS AN YA HIAAT HAd! UA?

A) S0 B) o0 C) Ro D) €30

TSI ATg T oo AT Tl 29 YRAAT AR e HA ¢ gfavid AT

I i1 b T Tell 2

A) 21000 B) 22500 C) 25300 D) 25800
Complete the series..
2,5,9,19,37,°7




31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

A) 73 B) 75 C) 76 D) 78
Complete the series..

0, 6, 24, 60, 120, 210, ?

A) 240 B) 290 C) 336 D) 504
Complete the series..

1,9, 25,497, 121

A) 64 B) 81 C) 91 D) 100
Complete the series..

2,5,9, 7 20,27

A) 14 B)16 C) 18 D) 20
Complete the series..

1,2,3,6,9,18,7 54

A) 18 B) 27 C) 36 D) 81
Complete the series..

10, 100, 200, 310, ?

A) 400 B) 410 C) 420 D) 430
Complete the series..

6,13, 28,59, ?

A) 111 B) 113 C) 114 D) 122

Complete the series..
3, 10, 29, 66, 127, ?
A) 164 B) 187 C) 216 D) 218

ERel T3l @A 20 A ¥ TAS 30 fGddHl 7167 §ooe Hl gd  Hell &

feaar wfa w1 aTT FIFS?
A) 1 B) 12 C) 2 D)6
Teh DTEAMEMHAT Hhl 00 Fell  deadiensg go & Qe @l & | 0 & Ui

Yo TTAT TCATATTS BIHAATH BISY T & Tl WAl Hidd & gaemr?
A) 30 B) 40 C) 50 D) 50
Pl DA A BT C Fell el v s Too | Ife ATdolel &1 P ¢ feeam,

B Tarelel ¢ TEaIdT I HaFSe] Hel C Udolel AN HIA Pid G TFS?
A) 12 B) 24 C) 30 D) 25
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TEH AHAT Tl (ee a1 TAAT Y TIA ARES W |
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